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1. Which among the following is not a basic unit of measurement?

a) Time b) Temperature
¢) Momentum d) Mass
AT ® & 9 7199 it T ST Tol 82
a) 99T b) ATTHTT
¢) T d) T=a 9T
2. The dimensions of Kinetic energy is same as that of —
a) Force b) Pressure
c) Work d) Momentum
TSt Fott a7 far T o1 fohee a|T 52
a) T b) T
c) FTF d) HaT
3. A car accelerates from rest to 30m/s in 5 seconds. What s the acceleration?
a) 4 m/s? b) 5m/ s?
c) 30 m/s? d) 6 m/s?
U T 5 Hehe H [ETH- AT8AT | 30 HISY/HTE ol T Tohe Al gl T
GRUEDIE
a)4 m/s? b) 5m/ s?
c) 30 m/s? d) 6 m/s?

4. Equation of motions is applicable to motion with
a) Uniform acceleration
b) Constant acceleration
¢) non uniform acceleration
d) none of these
T T FHIHLOT T 92 Fohe ol § A gar g
a) ThHHTA <0
b) R amr
C) THHTH LT
d) TTH | FIS Al
5. When a force is applied to an object in the direction of motion, what happens
to its acceleration?
a) Itincreases b) it decreases
c) it remains the same
d) it depends on the magnitude of the force and the mass of the object

ST ToReT areq O T aht ferT o aef 1T ST €, a7 S9eh < or 9% F#47 T9T9
TEAT S




d) Tg T o TRHTIT ST TE]  GoTq4\ 9L AT Farg

6. What is the relationship between acceleration and time for an object moving
with constant acceleration?

a) Linear b) Exponential

c) Quadratic d) Constant

e w@wor & | e Rt &g & or @2or ofiT 967 & o= 747 9ee g7?
a. ¥u=

b. =TT
MELIEG]
d. Faai®
7. The resultant of two vectors is maximum when the angle between them is
a) 0 degree b) 45 degree
c) 90 degree d) 180 degree

ZT FiRert FT TROTTH TTEFHAH ZIAT & ST 37k &= HT K9 gal &
a. 0 f=3fy
b. 45 =T
c.90 =3t
d. 180 =4t

8. The scalar product of two vectors is also known as:
a. Cross product
b. Dot product
C. Scalar
d. Vector multiplication
FT Fiaert & ATI9r AR T =0 &9 H AT 7 14T 2
a. FIe OTAHT
b. &g e
c. srfaer

d. FfEer qUEET

9. What is the angle of projection for maximum range in projectile motion?
a.30deg
b. 60 deg



c.45deg
d. 90 deg
T T STfEeraw Sfast aere & for et &7 Yoy 97 82
a.30deg
c.60deg
b. 45 deg
d. 90 deg
10. Which of the following quantities remains constant throughout projectile
motion?
a. Speed
b. Velocity
c. Acceleration
d. None of the above
fAerforfaa ® & &9 €7 Jitae T J&eT i 0 AFaid @ar g ?
a. =1
b. &
C. T
d. U § ¥ FIS Agl

11. Newton’s second law of motion is —

a) F=dp/dt b) F=mv

c) F=mv? d) F=m?v
e & T T AT FIH 8 —

a) F=dp/dt b) F=mv

c) F= mv? d) F=m?v

12. A ball of mass m strikes a rigid wall with velocity u and rebounds with the
same speed. The impulse imparted to the ball by the wall is —

a) 2mu b) mu

c) zero d) -2mu

M SSTHTT [ Teh & u o1 o Teh FoSIL QAT o Shrdl g A AT AT | o<
STt g AT GTRT 3 ol (T AT SATERT g —

a) 2mu b) mu

c) <A d)-2mu
13. Lubricationis used to -

a. Increase thefriction




b. Decrease the friction
c. Both (a) and (b)
d. None of these

#E T STANT (haT 1T & -

a. THUT gETd & for
b. T FH LA & (0
c. (a)3< (b)TT
d. S ¥ Fls Ael
14. A force of 10 N acts on a body of mass 1 kg, then the acceleration produced in

a body -
a.10m/s
b. 10m/s?
c. 1m/s?
d.1m/s
1 TR T 9T 9Tl {9€ 9% 10 N &7 9 T3 FdT @, AT f9e § FT @0 Icq
g ?
a.10m/s
b. 10m/s?
c. 1m/s?
d.1m/s
15. Relation between Kinetic energy (K) and Momentum (p) of a body of mass m —
a) K= pm/2 b) K= pm
c) K=p? /m
o o ot s ot () s T (o) 35 e e s 2 2
a) K=pm/2 b) K=pm?
) K=p? /m d) K=p?/2m
16. What will be the kinetic energy of an object when its velocity is tripled?
a) Double b) tripled
c) nine times d) None of these
ToRElT aeq T AT I AT g1 T IHehT TTAST Sol1 FAT gIfT?
a) qrEaT b) 1T AT
c) AT AT d) T & FS Al
17.1 Horse Power =
a) 746W b) 446W
c) 766W d) None of these

1 375 9Tf<h=



a) 746W b) 446W

c) 766W d) TH ¥ FIE Gl
18. Kwh s the unit of the following —
a) Work b) Energy
c) Power d) None of these
Kwh Frerferfara 7 5% 2-
a) F b) ZSTT
c) aTf<w d) TH § S T
19. Which of the following is the translatory analogue of Moment of Inertia?
a) Torque b) Force
c) Velocity d) Mass
Rerferierd § & &I |97 ST ol &1 T =T 872
a) T AT b) &=
c) T d) =T

20. Where is the centre of mass of a uniform rod located?
a) At one end of the rod
b) At the midpoint of the rod
c) At the top of the rod
d) At the bottom of the rod
U B H GoTHIT ok gl (00 glarg?
TS FUFSZLH
b) EE F AT H
C) TS FFIUTH
d) BT HFA=H

21. What is the Moment of inertia of a solid sphere of mass M and radius R about
its diameter?

a) = MR? b) = MR?

b) Z MR? d) ZMR?

AT M ST FISAT R % Teh SIF Tl 1 ITeh SATH & T STScd 30l 47
g ?
2 2 2 2

mgMRZ mgMRZ
22. What is the escape velocity of Earth (approximately)?

a) 10m/s b) 100m/s




c) 1000m/s d) 11.2km/s
AT T TATA T (FRTHT) FT 22

a) 10m/s b) 100m/s

c) 1000m/s d)11.2m/s
23.Inan elliptical orbit, where is the sun located?

a) At the center of the ellipse

b) At one of the foci

) On the major axis
d) At the apogee
é?a‘-{cﬁw FeAT H, 4 Fgl Fuag?
S EEESEETE
b) 1T H & UF I
c) THE eT IT
d) TS 9%

24. The weight of an object on the Moon is approximately of its
weight on Earth.

a) One-sixth b) One-third

c) One-half d) The same as

FEAT I TRelt aeq T a1 T2AT T IHE a9 T AT ¢l

a) 3T leedr

b) T freTs

c) Teh-3reT

d) 7T
25. For a satellite movingin an orbit around the earth, the ratio of kinetic energy
to potential energy is

a) b) -~
c)2 d) V2

qEAT % AT AT T FeAT § qHA AT ITUL o o1, it o1 &A1 feerfast 31 =1
AT BT &

1 1
c)2 d) V2
26. The restoring force per unit area is known as —
a) strain b) elasticity
c) stress d) plasticity

T TS &Rl I¥ TATAIT 9 &l [ohF ® T | ST SI1aT 82



a) At b) SreATEET

c) sfaaer d) TTEe =l

27.Substances which can be stretched to cause large strains are called
a) brittle b) ductile
c) plastic d) elastomer

TSI 7Tt T a2 STHST FT FHTT T o o1 FATIT ST ThaT & Ivg F9T Tl
STaT 87

a) AT b) T
c) AR EH d) TATEEHT
28.1 poise= Ns/m?
a) 0.01 b) 0.1
c)1 d) 10
1 9TSST = Ns/m?
a) 0.01 b) 0.1
c)1 d) 10

29. The frictional resistance for fluids in motion:is
a) inversely proportional to the square of the surface area of contact
b) inversely proportional to the surface area of contact
c) proportional to the square of the surface area of contact
d) proportional to the surface area of contact
TTAHTT T TaTT o o a7 Siaerer g
a) T o TAE &1 o a3 o F[RATIITd]
b) e o Hdg & o F[RATIIT]
c) §eh o Tqg &1 % AT o FHIITAT
d) 5% o T &7 & FHATAT
30. A drop of water is broken into two drops. The sum of which property of the
two drops is equal to that of the single one?
a) radius b) surface area
c) surfaceenergy d)volume
OTHT 1 U 93 &l 9&l H & SATAl g &7 Jal o [ohe 0T &7 TN UF & o6 07
I 2?2
a) FBrsam YEGEREI
c) Tdg & EIRGE
31. When water is heated from 0° C to 4°C, the volume of water:

a) Remains the same
b) Decreases




c) Increases
d) None of these

S| qTHT T 0° C | 4°C e ITH Toh AT SITAT 8, @7 ITH1 a7 STad

a) T I TBar g
b) FH BT ATl &
)FEAT S
d) TTH ¥ FIT Tal gl
32. The absorptive power of a perfectly black body is:

@

a) Zero b) 0.5
c)1 d) Infinite
T FTCOTRT ol STALTTIOT 1= Bl
a) Zero b) 0.5
c)1 d) Infinite
33. The Zeroth law of thermodynamics leads to the concept of:
a) Internal Energy b) Heat Energy
c) Pressure d) Temperature
SEHITTEhT T ST e [MaH e Terierd sl ST il i of STaT 2l
a) SATATH FHolT b)fAfea FoAT
C) = d) ATTHTT

34. First law of thermodynamics leads to:
a) Conservation of mass
b)Conservation of linear momentum
C) Conservation of energy
d) Conservation of angular momentum

SHITA T T gl I e H F Fheent shi 3 of SITarg?

a) TS =T GTEqu
b) ¥k GanT FT G
C) SoTT T HIE
d) =TT FeT T &0

35.S.1. unit of universal gas constantR is :
a)J molK™1 b) Jmol 1K1
c) J /'mol K1t d) /" 'mol K1

TATAATHS 9 [MIdis R&AT S.1 THhTs ...




a)J Imol K1 b) Jmol 1K1

c) J7'mol K1 d) /" tmol K1
36. In monoatomic gas molecules, degrees of freedomiis:
a)l b) 3
c)5 d)7

o TLHTIL 6 SIS |, TFq=1dT &l HTei gl

a)1l b) 3

C)5 d) 7
37. What is the time period of a pendulum that completes 10 oscillations in 20
seconds?

a) 1 second b) 2 second

c) 10 second d) 0.5 second
20 e | 10 T T HA AT AT 0l qEATATE FAT 872

a) 1 second b) 2 second

c¢) 10 second d) 0.5 second

38. What is the Sl unit of frequency?
a) Hertz (Hz)
b) Joule (J)
c) Newton (N)
d) Pascal (Pa)

ST T S| THTS FAT 2

a) Hertz (Hz)

b) Joule (J)

c) Newton (N)

d) Pascal (Pa)
39. Which of the following is an example of a transverse wave ?

a) Sound wave b) Light wave

c) Earthquake wave d) None of these
fAeforfad & & 1 STeT T4 HT 33180 87?

a) & T | b) TERTET T |




c) T T T | d) T8 § FIE el |
40 The maximum displacement of a particle fromits equilibrium position in a
wave is called:

a) Wavelength b) Amplitude
C) Frequency d) Period

et aar § el ot T Ikt AT Rl @ srfararay feeemaer s/ Fgemar g 2
a) T 38T YERIE]

c) sma d)
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AHTATGRI foIST :- General Instructions: -

o SHHQEIIBIH\TQTMO u%I 3 | (There are total 40 questions in this question paper.)

o J13f} usat siforart 2 | (All questions are compulsory.)

e URID U o f1u 1 3icb forarifda 8 | (Each question carries 1 mark.)
o URID U%I &P fo1u ar f[dacu f&u s1e 2, 318l fdascu o1 arlal 2 | (Four options are

given for each question, choose the correct option.)
e J[cId 3712 D [eT8 DI SBUICHD 3ib ofal & | (There is no negative marking for wrong

answers.)

1. What is the IUPAC name of CH3CH,
CH,OH?

(a) Ethanol

(b) Methanol

(c) Propanol

(d) Butanol

2.The most reactive hydrocarbon
towards bromine is:

(a) Ethene

(b) Ethyne

(c) Benzene

(d) Ethane

3.The molarity of a solution containing
5 moles of solute in 2 liters of solution
is:

(@ 25M

(b)5M

(c) 10 M

(dy1M

1. CH3CH>CH,OH T IUPAC -TH T 82
(a) TIATA

(b) AYATA

(c) UUTa

(d) SgATa

2. SHH & Ufd e 31 ufafearita
RESIACEES

(a) T

(b) WIS

(c) SofF

(d) T

3.2 @iex faq= H# 5 |id faoa & I1y
fqeTa= &1 AIAdT o1 gIi?

(@) 2.5 M

(b) 5 M

(©) 10 M

d) 1M




4.What is the empirical formula of a
compound containing 40% carbon,
6.7% hydrogen, and 53.3% oxygen?
(@) CHO

(b) CaH40;

(c) CH,O

(d) C3HeOs3

5. The total number of orbitals in a
shell with n=3 is:

(@3

(b) 6

(©9

(d) 12

6.The bond angle in NHs is
approximately:

(@) 90°

(b) 107°

(c) 120°

(d) 109.5°

7. The heat released when 1 mole of
water is formed in a combustion
reaction is:

(a) +285 kJ/mol

(b) =285 kJ/mol

(c) +418 kJ/mol

(d) —418 kJ/mol

8.The conjugate acid of HCO3 - is:
(a) CO5™

(b) HoCO3

(c) OH"

(d) H.O

9.What is the oxidation state of iron in
Fe,03?

(a) +2

(b) +3

(c) +4

(do

11.Which of the following is the
functional group of aldehydes?

(a) -OH

4. 40% T, 6.7% BISSIoM, 3R 53.3%
TR aTel AT BT SIUTT T T 62
(a) CH,0

(b) C2H402

(c) CH40

(d) C3HeO3

% n=3 aTel Ueb e H el bl dél Bl
?

(@3

(b) 6

(©9

(d) 12

6. NH; T ¢ 10T AT fasa1 g1l 62
(a) 90°

(b) 107°

(0) 120°

(d) 109.5°

7. 919 gg4 fiiforar # 1 i o 9T B,
I fpa-t ST IfoTd gidll 87

(a) +285 kJ/mol

(b) =285 kJ/mol

(c) +418 kJ/mol

(d) —418 kJ/mol

8. HCO;™ BT U 31 T 82

(a) CO5*

(b) H,CO;3

(c) OH"

(d) H,0

%. Fe,O; H TIET T HTRITHRUT [T &
?

(a) +2

(b) +3

(c) +4

(d)0

11. FofaRed & 9 ®F sifceesey &1
HTD THE &2

(a) —OH




(b) -CHO

(c) -COOH

(d) -NH;

12.Which of the following shows a
resonance effect?

(a) Benzene

(b) Ethane

(c) Ethanol

(d) Methane

13.What is the hybridization of carbon
in ethene (CoH4)?

(@) sp

(b) sp?

(c) sp’

(d) dsp?

14.What is the IUPAC name of
CHsCH,CHO?

(a) Propanal

(b) Propanone

(c) Ethanal

(d) Methanal

15.The reaction of ethene with
hydrogen in the presence of nickel is
called:

(a) Hydrogenation

(b) Halogenation

(c) Nitration

(d) Sulfonation

16.Which of the following is a
saturated hydrocarbon?

(a) Ethyne

(b) Ethene

(c) Methane

(d) Benzene

17.Which period of the periodic table
contains the noble gases Helium,
Neon, and Argon?

(a) Period 1

(b) Period 2

(c) Period 3

(b) -CHO
(c) -COOH
(d) =NH,

12. Fofafed & 9 &9 e UvTE yeRid

(a) ST

(b) T

(c) QAT

(d) HigA

13. Tl (C,H,) § BT P BIRivSEoRH
T 8?

(a) sp

(b) sp?

(©) sp

(d) dsp?

14. CH3CH,CHO T IUPAC -TTH &1 872
(a) WU

(b) TOH

(c) A

CRERE

15. Movd @1 Jufufa T Tl ot gregieA
& 1Y SHUTHAT BT T Hed 67

(a) BIRSISTHIHRUT

(b)

() lg

(d) e HRH

%{6. fafafed & § &F dq« gRgIHeH
?

(a) WIS

(b) T

(c) HigF

(d) donA

17. 3{Tad RO BT DI T 3Tad aIferaH,
a7, 3R i S WAl &) gHIRd
AT §?

(a) 3fTad 1

(b) 3MTdd 2

(c) 3MTad 3




(d) All of these

18.Which of the following has the
highest bond dissociation energy?
(a) Ha

(b) Cl

(©) O

(d) N

19.The shape of XeF, molecule is:
(a) Tetrahedral

(b) Square planar

(c) Trigonal bipyramidal

(d) Pyramidal

20.Which of the following molecules is

polar?

(a) CO;

(b) CH4

(c) NH3

(d) BF3

21.What is the molarity of a solution
containing 5 g of NaOH in 250 mL
solution?

(@01 M

(b)0.2 M

(c00.5M

(d)1.0M

22.Which of the following has the
highest mass percentage of carbon?
(a) Methane (CH,)

(b) Ethane (C,Hg)

(c) Propane (C3Hg)

(d) Butane (C4H40)

23.Calculate the number of atoms in
11.2 L of oxygen gas at STP.

(a) 6.02x 107

(b) 3.01x10%

(c) 1.204x10**

(d) 2.408x10%*

24.What is the empirical formula of a
compound with 40% carbon, 6.7%
hydrogen, and 53.3% oxygen?

(d) SIRIad T

18. Fufafad 7 3 et d4 faue S
Tad 31fip g7

(a) Hy

(b) Cl,

(c) O,

(d) N,

19. XeF, 370] FT THR T §7

(a) TS IOM

(b) IMHR JATAT

(o) Prenivig fgffirsta

CAERIEER)

20. Frgfaiead & & i a1 3] ydia g2
(a) CO;

(b) CH4

() NH3

(d) BF3

21. T 250 .1 O & 5 U1 NaOH &1
il (AR 1 g2

@ 0.1 M

(b) 0.2 M

(€) 0.5 M

(d) 1.0 M

22. fFuferfed 7 3 fad &6 &1 g
gfaerd o 3ifde 82

(a) HIUT (CH,)

(b) T (C,He)

(c) U (CsHe)

(d) ST (C4H10)

23.STP TR 11.2 L 3fiaitor 719 § GRATI37
D AT T B

(a) 6.02x10%

(b) 3.01x10%

(c) 1.204x10%*

(d) 2.408x10%*

24. T Giffes FSRIH 40% BT, 6.7%
gIZSIoH 31R 53.3% HTRIoH §, BT

ESICIRIS e K




(@) CHO

(b) CH,O

(0) C3HL0,

(d) CsHeO3

25.Which quantum number
determines the shape of an orbital?
(a) Principal quantum number (n)

(b) Azimuthal quantum number (I)

(c) Magnetic quantum number (m)

(d) Spin quantum number (s)

26.The maximum number of electrons
in a shell is determined by:

(a) n?

(b) 2n?

(©) n(n+1)

(d)n+2

27.What is the de Broglie wavelength
of an electron (mass 9.1 ><1O‘31kg)
moving with a velocity of 10’m/s?
(Planck's constant h=6.63x1073* J-s)
(@) 7.3x10™"" ' m

(b) 1.5x107""m

(©)2.0x107""m

(d) 6.0x107""m

28.The element with atomic number 34
belongs to which block of the periodic
table?

(a) s-block

(b) p-block

(c) d-block

(d) f-block

29.Which of the following has the
highest electron affinity?

(a) Fluorine

(b) Chlorine

(c) Oxygen

(d) Sulfur

30.The ionization enthalpy of nitrogen
is greater than that of oxygen because:
(a) Nitrogen is smaller in size

(a) CHO

(b) CH,O

(c) CuHLO,

(d) C3H6O5

25. I T HicH FaR BT B B
Ruifd Har g2

(a) UHW icH IBAT (n)

(b) PO HicH IBT (1)

(c) DT HicH =T (m)

(d) T ey = (s)

26. U BT U BT FeiagHI o AT
i gt 8

(@) n?

(b) 2n?

(©) n(n+1)

(d) n+2

27.10'm/s 1 91d Y I Tl Saide
(S&SH 9.1x 1072 'kg) P1 De Broglie
JTCe T 82 (Wb fRRIF h=6.63x107
J:s)

@ 7.3x107" m

(b) 1.5x10 ""m

(€) 2.0x107 " m

(d) 6.0x10™""m

28. TRHTY] TS 34 Il dcd 3MTad AR &
g =T I Tafdd g2

(@) -l

(b) p-Sleh

(c) d-slh

(d) f-S1h

29. fafafea o 9 fae! gaac st
a9 3ife g7

(a) TR

(b) IR

(c) RIS

(d) B

30. ATSCISH &1 STHTHRUT Soll TR
3 3 =t gt 87

(a) FTECISH 3THR A BleT §




(b) Nitrogen has half-filled p-orbitals
(c) Nitrogen has more electrons

(d) Oxygen has less nuclear charge
31.Which of the following is an alkaline
earth metal?

(a) Sodium

(b) Magnesium

(c) Aluminium

(d) Potassium

32.The atomic radius of an element
decreases across a period because:
(@) Nuclear charge increases

(b) Number of shells decreases

(c) Screening effect increases

(d) None of these

33. In the reaction: 2Na+Cl,—2NaCl,
which substance is oxidized?

(a) Na

(b) Cl2

(c) NaCl

(d) None

34.The oxidation state of chromium in
KoCr,05 is:

(a) +3

(b) +6

(c) +2

(d) +7

35.The change in enthalpy for an
exothermic reaction is:

(a) Positive

(b) Negative

(c) Zero

(d) Infinite

36.Which law of thermodynamics
defines entropy?

(a) Zeroth law

(b) First law

(c) Second law

(d) Third law

37.The equilibrium constant of a

(b) TSI 7 3fef- 218 p-ped Befl &
(c) SIS # 3ifieh 3eiael4 Bl §

(d) SHTRITS | & TG ST Bl &
31. e 7 o &g gedt u1d 27
(a) TifeTy

(b)

(c) TegfAfam

(d)

32. T 31qd | fodlt dd & iRATY] B
(a) NPT A gl &

(b) Al ! T HH Il §

(c) THIFT UHTa gdT 8

(d) 3TH Y IS TRI

33, 3fNfHAT 2Na+Cl,—2NaCl & HIF I
Terdf SiTaenRur SRl 87

(a) Na

(b) Cl,

(c) NaCl

(d) 3TH Y IS T8I

34, K>»Cr;0; H IFIH BT MTGHIHT
SARIT T 82

(a) +3

(b) +6

() +2

(d) +7

35. ST Siffshar & forg T &
uRadT &

(a) YTHS

(b) BUMTHSB

(©) I

(d) 3Fd

36. SEANIA®! &1 DI 9T 99 TSTd! &1
gRUTIRYT HRdT 87

(a) RAal Fram|

(b) Tgan faH

(c) g o

(d) T faw

37. U Ufaferar &1 I fRRIF 10 81 afe




reaction is 10. What will happen if the
concentration of the product is
increased?

(a) Forward reaction is favored

(b) Backward reaction is favored

(c) No change

(d) Reaction stops

38.The pH of a neutral solution at 25°C
is:

(@0

(b) 7

(c) 14

(d) 10

39.Which of the following is a Lewis
base?

(a) BF3

(b) NH;

(o H*

(d) AlCI5

40.The common ion effect is
associated with:

(a) Buffer solution

(b) Salt hydrolysis

(c) Solubility equilibrium

(d) None of these

TG DI Aigdl T af ST ol &1 8RT ?
(a) ST 31ffehar Pt HHTaT STt
(b) T SifNfhaT & TG Fgiit
(c) DTS TR T8l g

(d) Hffehar v St

%8. 25°C R T Ry UId T pH T BIdll
?

(@) 0

(b) 7

(c) 14

(d) 10

39. FARfoied & § &H U6 T34 &RF &7
(a) BF3

(b) NH;

(e H

(d) AICI;

40, MY 3 YT fhad Sefdd g2
(a) TB Ui

(b) THP 3Tge

(c) fareiar e

(d) 375 A DIs T8
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Model Question Paper (wfaest waru=r)

(2024 - 2025)

MCQ BASED QUESTIONS
(et smmaTfa w=)

Class - 11 Subject - Mathematics
(- 11) (ferrar - mrforer)

F.M.-40
(it - 40)

Time 1 Hour

(gw- 1 =)

INSTRUCTIONS/Fgwr :

¢ There are 40 Multiple Choice Questions.
F 40 Tgfahed T 17 2 |

¢ All Questions are compulsory. Each question carries 1 mark.

Teft w7 o I AATT g1 TAF T 3 o0 U s Heig g

¢+ Four options are given for each question, choose one of the correct option.

TCUF TF o AT (o] (U T8, TAH T UH el (dehed il 939 F1

¢ There is no negative marklng for any wrong answer.

AT I o (1T il 3 Al IS SITOA|

1. AsetAis called a finite setif -

A. It contains infinite number of elements.

C. It contains finite number of elements.
UF GHgT TRHT 9qgdT FeArdl g qia

A. TIFET T HEAT AT Bl

C. sraal ¥ gear qifad ar

B. It contains no elements.
D. None of these

B. @< 3999 gl &l

D. IAH &I Al

2. The union of two sets A and B consists of elements which are —
B. Either in A or in B.

A. Common in both A and B.
C. Neither in A nor in B.

D. None of these

A FFAT A T B FT AT 99 AaT4d] T U ¢ ST &
B. AMATAHATBH
D. IAH ¥ Fls Aal

A, AT BaEMEIH AT
C. ATAHANTABH
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If A={3x+5:x € Nand x < 6} then roster form of set A'is —
TR A={3x+5: X EN T X < 6} T THHT AVNIZ T -

A.  {8,11,14,17,20,23} B. {8,11,17, 23}
C. {8,14,20,23} D.  Cannotbe express
Which one of the following is null set?
et s aaga g -
A {0} B. {Xx:x>0o0rx <0}
C. {x:x2=3o0rx=4} D. {x:x2 +1=0forx € R}

If A ={-1,1} then number of elements in (AXAXA) is

g A={-1,1} 2 ar (AXAxA) | a4l il H&aT gHfl—
A 2 B. 4
C. 6 D. 8

If A={1,2,3} and B = {4} then number of relations from A to B is equal to

I A={1,2,3} 3T B={4} Brar A ¥ B HeT el i §&aT gRii—
A 2

B. 22
C. 23 D. 24
The radian measure of —240° is
—240° FTIRIAT AT -
21 . =311
A (T)C B. ( 4 )
—4711 —411
C. ( . ) D. ( - )

A wheel make 180 revolution in one minute. How many Radian does it turn in
one second?

ue afgar 2, 1 e § 180 afisraor #zar & a7 1 Fehe & fhaw Yeam a1
0T FATUAT?

A (3n) B. (4n)°
C. (bm) D. (12m)
Cos75°=
V3+1 V3-1
A. 22 B. 2v/2
V2-1 V2+1
C. 22 D. 2v/2
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10. |If CosA:E and CosB = % , where A and B both lie in quadrant IV, then

Cos(A+B) =
afx CosA == 4w CosB=—, W&l A @itz B A1t wors wrgarfer # o 21, 1
Cos(A+B) =
A2 B. —
65 65
c. = D. —
65 65
1. 2= lies in (R )
A.  Quadrant | B. Quadrantll
C.  Quadrant Il D. Quadrant IV
12. The modulus of (3i— 1)2
(3i—1)2 FTHTAF G
A 2 B. 4
C. -10 D. 10
13. If x € N, then the solution of 30x < 24 is
30X < 24 FTFA g, AR X EN
A {1,2,3,4,56} B. {1,2,3,4,5}
C. {2345,6} D. {6,7,8,9,10}
14. If |x + 3| = 10 then
7T |x +3| = 10 2, ar
A X € (-13,7] B. xe€ (-13,7)
C. X € (-00,-13] U [7, =) D. [-0,-13]U[7, )
15. If nC,+Cyy =™1C, then x =
Qﬁ nCr + nCr+]_ = n+1Cx @-, \_-h- X =
A r-1 B. r
C. r+1 D.  None of these

16. In how many ways can 04 different books be arranged on a self ?

I T ForaTat T U o o fohae o< & satedd o ST aeshar g ?

A 4 B. 8
C. 24 D. 16
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17.

18.

19.

20.

21.

22.

23.

How many words beginning with T and ending with E can be made with no letter
repeated out of the letters of the word ‘TRIANGLE".
‘“TRIANGLE “915% % 3710 ol feha e diehi & AT AT ST Thdl &, ST+

A T JAT 3d E AT & g2

A, ®Pg B. 720
C. 722 D. 1440
In the expression (1-2x)> coefficient of x® is
(1-2x)5 H TETCH X5 o 0T T A1 & —
A -2 B. -28
c. -2 D. -25
The middle term in the expression (X + y)* is
(X+y) FIARHALT IS S —
A 2XxX2y? B. 4x2y?
C. 6x2y? D. 8x2y?

If the nth term of GP is 2" |, the sum of its first 6 term is

% FRET GP&T naf 9 20 g A7 9 T 6 & T TN &

A. 124 B. 126
C. 190 D. 254
Arithmetic mean between a-b and a+b is
a-b 3T a+b F = AHTAT ATET & —
A. a B. b
C. 0 D. None of these

If 1,x,y,z,2 are in GP , then xyz =
a1, X, y, 2z 2 GP §gdqrxyz=

A 4 B. 2
C. 8 D. None of these

If the angle between two lines is Z and the slope of the line is % , then the slope of
the other line is
T T C@TAT o A1 AT H 07 Z g, STH § Teh @7 &l a1 % g qr gadt <@r &t
S
A. 2or — B. 3or —
= >
C. dor — D. 2or —
4 3
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24,

25.

26.

217.

28.

29.

30.

A line passes through the points P (0, 5) and its inclination with the X- axis is 30°.

The equation of the line is

e 3@ g (0,5) & [Tl § TAT SHHT X- 3767 o q7 FHR1a 01 30° g, T 3@T

T FHIRT &
A.  x++3y-5/3=0 B. x-v3y-5/3=0
C. x-V3y+5/3=0 D.  None of these

Intercepts cut off by the line 2x —y + 16 = 0 on the Co-ordinate axes are
TET 2Xx—y +16 =0 ZTT A39r - 31eAt U< F1e MU q:8T ¢ -

A 816 B. 16,8
C. -816 D. -8,-16

Centre of circle 2x2+2y? —6x+8y+1=0Is
T 2x2+2y? —6x+8y+1=0 FT g g:-

A (5.2 B. (3 -4)

c. (5.2 D. (-3 .2

If 3x+4y+k=0 touches the circle x2+y2 =16, then k is equal to
Ta 3x+4y+k=0 , TT x2+y? =16 Tl TIM FLcl &, a K FT T -

A. 20 B. 5
C. 10 D. None of these

For the Parabola y2 = 8x , the focus and vertex are respectively

TRAAT Y2 = 8X o forw ATTH we offel sweyer: € —

A.  F(2,0) and O(0,0) B. F(-2,0) and O(0,0)
C. F(4,0) and O(0,0) D. F(-4,0) and O(0,0)
(-4,2,-7) lies in octant
(-4,2,-7) TeiE ¥ foora g-
A I B. vV
C. Vi D. Vi

The distance between the points (0,7,10) and (-1,6,6) is
frgedt (0,7,10) 37 (-1,6,6) FATATNE -

A 3 B. 3V2
C. 2 D. 23
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3L

32.

33.

34.

35.

36.

37.

Mid point of A(2,4,6) and B(-2,2,4)
A(2,4,6) 3T B(-2,2,4) T Hex fdga-

IS

A. (0.1.5)
C. (0,3,-5)
5x
The value of lim<—= i
x—0 10x
5x
lim<= #THME -
x—0 10x
A. 5
C. 2
If y =ex - x then -
dx
e y=ex-x a1, =
dx
A. ex
C. ex -1
d —
™ (x. &) =
A. Xx+1
C. ex + 1
a 2\ —
— (tanx?)
A. secx?
C. 2X.Secx

If y=cosvx then value of Z—z will be

Ty = cosvx Fﬁj—z T HIT N7 —

A
C.

The range of data 9,8,12,80,75,45,36,72 is
AhET 9,8,12,80,75,45,36,72 T UXTH -

A
C.

— sinVx
2Vx
cosVx
2Vx

9
72

O w

(0,3,4)
(0,3,5)

ml»—\NlH

ex+1

ex (x+ 1)
eX

2X.tanx?
2X.Sec2x?

sinvVx
2Vx

None of these

80
75
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38.

39.

40.

The mean of first 10 multiple of 3 is

3 % TH 10 TUITHT T HTLT 2 -

A. 155 B. 175
C. 165 D. 185

A die thrown once, the probability of appear even numbers is

T TTET &l T I SGTAT AT, TH GCAT 3T #hi TTAhal g—
A B.

C. D.

AN RN |
WINW]|R

If P(A) = 0.42,P(B)= 0.48 and P(ANB) = 0.16 then P(not A) =
T P(A) = 0.42, P(B) = 0.48 3fi¥ P(ANB) =0.16 aT P(A 7gl) =

A. 058 B. 0.52
C. 042 D. 048

Page 7 of 8



Answer Key

ANS

Q. NO.

31

32

33

34

35

36

37

38

39

40

ANS

Q. NO.

21

22

23

24

25

26

27

28

29

30

ANs

Q. NO.

11

12

13

14

15

16

17

18

19

20

Ans

Q. NO.

10
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FR@Us AT I va gidaTor aRwg, e
aif¥e geifsve  ofiam (2024- 2025)

gfager 997 99 /Model Question Paper

FaT- 11 favg- She s §AG- 1 el quifeh- 40

[N

Instructions / fader:

e All questions are compulsory. / geft ueaT 3rfaary %ﬂ

® There are a total of 40 objective-type questions. Each question
carries one mark. Select the correct option. / el 40 d{-c_l,f:-lbo Y
e § Ucde U & fov e e fuia &1 a fowew &1 aaa #Y

e Tf there is any discrepancy in the Hindi translation of the
questions, the English version will prevail. / afe weat & T&ar 3eidre H

F1E REafa g, ar e GEor AT g

Mosses along with lichen are of great ecological importance because /
Mosses mmwmmmm%a@%

(a) They colonise barren rocks and decompose rock / I §R m W §9 A1d
& 3 "gcee = ufed = &

(b) Of their contribution to prevent soil erosion / ﬁ'{cﬁ' & Ferd H Ay H
37 ARG & HROT|

(c) Of their contribution in ecological succession / qiREUfoe 3TReR &
3T ARG & HROT|

(d) All of the above / 3G0%d T

Gemmae are asexual buds, which originate from small receptacles called

gemma cups. These are found in / A iR FHicwre 'fﬂ?—ﬂ' %, S B¢ 9ET # 3cUedd
By & [oeg ST 9 FgT T &1 T IS AT B

(a) Funaria / W‘\Tﬂw

(b) Marchantia / HATITAAT

(c) Fern / el

(d) Sphagnum / ThaaH




Which of the following statements is false for ascomycetes?
frafaf@d & ¥ FT-T1 FUF TTRARACT & T aea g2

(a) Ascomycetes consist of variously pigmented moulds
TERIATSECH faffed T el & 9 g €

(b) Thallus of Ascomycetes has aseptate, unbranched hyphae
TEhrATSHeH HT o foar fsnfera 3R f9ar @3t arer sae STl #T1 8iar &l
(c) In Ascobolous, sexual reproduction occurs by spermatisation
TSl H e olelel 2[HI0[H EaRT BT &

(d) Process of karyogamy is delayed to start dikaryophase

SRAAAT i gfshar & SO g ¢ f9ad sHRABST UF &ar gl

Gymnosperms are characterized by
SrFareara $r faQwar g:

(a) Absence of seeds

St @ Jreareatd |

(b) Seeds not enclosed in fruits
®ell # ¢ o gl drel dIST|

(c) Presence of flowers

Gt &1 3ufeafdl

(d) Dominant gametophytic phase

Y@ IFCIHIEEH T

Biodiversity can be best defined as / g fafayudr & @a@ 3<or aRA™T forar o
Hehl §:

(a) occurrence of the number and types of organisms / Shat &1 g&ar 3R R
$r g

(b) species and ecosystem of a region / Y &7 & genfa 3R wiRfeufadr o
(c) variety of life in an ecosystem / qikfEgfaehT aF & Sftasr & fafawar

(d) totality of genes, species and ecosystem of a given region / fRar feu

AT AT & SN, veitierdl 3R IRFEAfARr dF &1 For FT

Which of the following is against the rules of ICBN? / frafofaa 7 @ Hia-
AT ICBN & fauAt & favew &2

(a) Handwritten scientific names should be underlined / mﬁ@aéaﬁm
ATHAT &Y Y@ifehd fhar S @nfee

(b) Every species should have a generic name and a specific epithet / qcdh
YA &1 Uk 92 17 3R T gonnfa fawor g anfge

(c) Scientific names are in Latin and should be italicised / d<ilfeleh =T
dfes 7 gia § 3R 3¢ foveT forar s @nfge

(d) Generic and specific names should be written starting with small

letters / d 3T ganrfa AT a9 38 O Qﬁ%mﬁm

Choose the incorrect statement. / Jdd A ?:j,ﬁ'l
(a) Notochord is ectodermally derived rod-like structure. / ACIRlT TFIEH

¥ gcUeet B3 ST HITST Bl
(b) Notochord is formed on the dorsal side during embryonic development. /

HOT T & NI ACTHIS IS8T HET R T B




(c) The animals from Porifera to Echinoderms are without notochord. /
IR & TaTSaAIss deh & Il H sleihs w8l axdrl

(d) In some chordates, the notochord is replaced by the vertebral column
and these chordates are called vertebrates. / iw_i.i Eﬁé‘c}ﬂ' H ACIPIS A HATH

TAH ganT gfaeaniad fhar Sirar § 3R ¢ HAThT Tl S &l

In an inflorescence, where flowers are borne laterally in an acropetal
succession, the position of the youngest floral bud shall be: / Tdh W

#, TGl ol URAR §  ThHIUC HelshA H ool 81d &, AU AT Fol T shell 1 U
g :

(a) proximal / foded#d

(b) distal / I

(c) intercalary / HEIEY

(d) anywhere / Fer oY

8.
Which of the following statements is correct? / afoi@a # @ Sla-ar sy
e &
(a) Actinomorphic are bilaterally symmetrical flowers. / tfFearArihe
gfuredta &7 & FATAT Gl 81 &
(b) Zygomorphic are radially symmetrical flowers. / Eﬁ?ﬂ?ﬁﬁﬁm ] &
TATAT el g B
(c) Asymmetric are irregularly symmetrical flowers. / WF@HW GRS
7 & ARG 8 gl
9. [(d) A1l of the above / 3URIFd THTI
Which one of the following differentiates plant cells from animal cells? /
AT & @ @leT diul 1 HITABST T q HITABT & el AT g2
(a) Large vacuole, plastid and cell wall / El_s'PI' ﬁ%&'ﬁh—f, ‘T*l'm?:'}ﬁT FIfAepr TR
(b) Cell wall, plastid and centriole / ITAhT fﬂﬁ, WT@_S’}T\T éﬁa?r?
(c) Cell wall, plastid and mitochondria / I fATT, canf¥es 3R ABCIHI-saT
10 (d) Cell membrane, plastid and cell wall / ﬁfﬁm@wﬁ, taf¥es 3R ifAar
ot
The most abundant lipid in the cell membrane is: / CRED] @Wﬁ H gew 9
HAET # 97 Al drer fafvs g:
(a) phospholipid / PIEHITATUS
(b) starch / T
1 (c) oil / ad
(d) sulpholipid / HeWITellus
Enzyme catalysts differ from inorganic catalysts in which way? / K’GI'IE'QT
3O eI 3cat & frg g @ g1a &2
(a) Enzyme catalysts are smaller in size and lesser in weight in
15 comparison to inorganic catalysts. / USIISH 3 PR H BT IR AR H écﬁ?

gid gl




(b) Inorganic catalysts can work efficiently at high temperatures, but
enzyme catalysts cannot (except few enzymes). / 3Rl 3cUE 3T d9AT 0T

FRAAAT F H FT Hehel 8, ofchel TSISH IR w6 (FS I BISH) |

(c) Inorganic catalysts can work efficiently at high pressure, but enzyme
catalysts cannot. / 3ehiefeleh 3cUXeh 3T GoId W FACIA ¥ FF F Fehl 8, Afehel

USTSH 3cUah =igi|
(d) Both (b) and (c) / &Ml (b) 3R (o)

The lock and key concept explains the interaction of a particular enzyme
molecule with a specific substrate molecule. / dieh U5 fiT 3rgurorm frdr oy

UaeA 3] AR fafdrse wsade 30y & @ 3ia:frar & gaser §
(a) True / "I

(b) False / 38T

(c) Cannot say / 1gl &g Hehdl

= (d) Partially true or false / AP §T T AT 37T
The common phase between aerobic and anaerobic modes of respiration is: /
A HT I 3R rarE At & i FHe 9w
(a) Krebs’ cycle / W oOsh
(b) EMP/glycolysis / SUHUI/IcShicNeiad
» (c) oxidative phosphorylation / JrasfeT W\JITWIEF}QIFT
(d) pPpp / YAy
The dough kept overnight in warm weather becomes soft and spongy due to: /
I AFA 7 AR IW@T I AET RA AR TS @ AT g
(a) absorption of CO2 from the atmosphere / amgqg?»r ¥ CO2 T 3aeNyur
(b) imbibition / BT
(c) fermentation / fohuae
o (d) all of these / S8 & F|
In PS II, active chlorophyll is: / 90 II H HfhT FaARIGA &:
(a) P680 / 680
(b) P700 / Hr700
L | te) BET3 / 9673

(d) P720 / ©r720]|




17

Photosynthesis in C4 plants is relatively less limited by atmospheric CO2

because: / C4 Ul H Yohel HLAVUT W co2 & 34'@&111% FH AT ?IT-IT % FiTeh :
(a) there is effective pumping of CO2 into bundle sheath cells / CO2 Gl
gsar ofry AT A gordy &7 F 99 FRam Srar g

(b) RuBisCO in C4 plants has a higher affinity for CO2 / C4 gt # RuBisCO
#r co2 & fow 3w cATar xdr 2

(c) four carbon acids are the primary initial CO2 fixation products / dR-

FIeeT 3FdT YRTAF co2 TEUdIor 3cure g &1

(d) primary fixation of CO2 is mediated via PEP carboxylase / CO2 <l

grrfAe FEudleor pep Feffadcsl & ACTH I gdr 2

18

Which hormone plays an important role in phototropism? / HieT AT E'ITﬁFT
ThTMTATIATT & HgeaquT ${fHehT fHemrar g2

(a) Gibberellin / foeRfereT

(b) Auxins / 3ifeEeq

(c) Ethylene / TielleT

(d) Cytokinin / HIScIHhSfeleT

19

Which plant hormone overcomes the natural dormancy of buds, tubers, and

seeds and allows them to grow? / HieT Ir gier awﬁ?r FHfordr, Fer IR Gt & EI'ITT?I%
GrATaEAT T FACT I 3o d6a T AT & g2

(a) Auxin / 3iifedeT

(b) Ethylene / WBEIGE

(c) ABA / UHIT

(d) Gibberellin / foaRforeT

20

Removal of the auxin source demonstrates that leaf abscission is by

auxin, and apical dominance is by auxin. / T AT & &< ¥ T
Sefdd grar § T ool &1 3rerama 3ffferdeT ganT fohar STar 8, 3R MY weea
AT garT foram ST 2l

(a) promoted, promoted / ST f&ar a=m, sorar fear s=r

(b) inhibited, inhibited / &Tf&d, STfad

(c) promoted, inhibited / deldl fe=r EIR2| 8 CHGL

(d) inhibited, promoted / EIT@?T, EIE'IT:lTﬁE’JIT aar

21

Which one is the correct sequence in glycolysis? / ?T»nsaﬁasﬁ'aﬁr gl B
T B2

[ PEP [ 3PGAL [-» 3PGA

[~ 3PGAL [-» 3PGA [L. PEP

[l- PEP [, 3PGA [I-» 3PGAL

P
P
P
P [-» 3PGA [J-» 3PGAL [ PEP

a) -6-
b) G-6-
c) -6-
d) G-6-

—~ o~~~

22

Pyruvic acid + Co-A + NAD+ - Acetyl Co-A + CO2 + NADH + H+. This reaction
is known as: / 9rafde 37Fel + Co-A + NAD+ — QF‘IEIE(‘*I Co-A + CO2 + NADH + H+.

39 TRIRAT FT FEd §:




(a) Pyruvate oxidation / gyde feases
(b) Link reaction / IGEIGIEIE 221

(c) Both (a) and (b) / @Ml (a) 3 (b)
(d) None of these / W q aﬁg TRl

Which hormones stimulate the production of pancreatic juice and

bicarbonate? / Hid A E'I?:ﬁﬂ' TR W 3R a'l's';EFITq;fﬁE' & IcUIesT H 3atord Ha 82
(a) Angiotensin and epinephrine / o @a 3R vfiahe
(b) Gastrin and insulin / m 3k 3111%!7{
(c) Cholecystokinin and secretin / ﬁﬁ»@?—‘dﬂgﬁmaﬂi ﬁl—;ﬁﬁ?f

23 C
(d) Insulin and glucagon / s lefel k> iry JofehldTet
In the given diagram of the breathing mechanism, what do A, B, and C
depict? / 28T dF & feU a0 3@ & 2, B 3N c F T &7
A
;l.
ﬁ?{m- =
H“«;;f;f{?f'c';,%ﬁ The volume of the thorax decreased
wé;f' A I} B
i Ties
= .;‘-:Q?
\ _'iN:}-':‘.:
da Z&%ﬁlr goes inside the lungs, B-Ribs and sternum return to the
or .ﬁ@al position, C-Diaphragm contracted / A-TY hhel H ST B,
p-dferar AR qeifey el Her Fufa & dled 8, ¢z Fgfd|
(b) A-Air expelled from lungs, B-Ribs and sternum returned to the
original position, C-Diaphragm relaxed and arched upward / A-dIY
bl & aeX fAwerdy 8, B-uafadr iR garfey roel Ao fFufa 7 &iea §, c-
srmpTA fRfAer 3R S A1 3T AT g3
(c) A-Air expelled from lungs, B-Ribs and sternum go upward, C-
Diaphragm relaxed and arched upward / A-dlg hHel ¥ gl feeldr g,
B-uaferdl 3R qeIffy FW &1 3T o §, c-srIwhA RS 3R W AT AR A3
§3-1T|
(d) A-Air goes inside the lungs, B-Ribs and sternum go upward, C-
04 Diaphragm relaxed and arched upward / A-dAlg Bl H STdr %‘, B-g&ferm
3R eIy W B AT oA &, c-SEpE R 3R IR A AT A g3
After forceful inspiration, the amount of air that can be breathed out by
maximum forced expiration is equal to: / EIT*I'C@EF IO & dr, 3Tdhdse EIT*I'C@EF
TH AT SeX AT et arell a1 hr AT & SRR gl o
(a) IRV + ERV + TV + RV
(b) IRV + RV + ERV
25 (c) IRV + TV + ERV
(d) TV + RV + ERV
26 Arrange the following parts of the nephron sequentially and select the

correct option accordingly: / AWIT & AFATT@d A I FHHIR IIredd Y 3R




e faeed ol

. Glomerulus / JollHGCH

. Ascending Henle’s loop / RET galer &l GAl

. Descending Henle’s loop / 3arer gﬁﬁ'aﬂ'ﬂy

. Proximal convoluted tubule / fAdcEd ivsrad CIRED
. Collecting duct / HIGOT Afelel

. Distal convoluted tubule / ngu'iﬁﬁaa'aﬁﬁaw

o O w N

I - IT - IIT - IV -V - VI
I - IV - IIT - ITI - VI -V
I->1I1IT -1V - IIT -V - VI

(a
(b
(c
(dy VI - III - II - I - VI -V

—_ — — —

Choose the mismatched part of the nephron and its function: / ﬁﬁﬁﬂ'%??ﬁﬁT

S T H1eT AR 3TH HT H IIT HL
(a) Bowman’s capsule-Glomerular filtration / AT Fr éﬂ?ﬁq—Tﬂtﬁ3ﬂT
foreaeaT

(b) PCT-Reabsorption of Na+ and K+ / ﬁﬂﬂéﬁ—Na+—3ﬁT K+ ol gﬂiﬂaﬂﬁﬂﬂ
(c) DCT-Reabsorption of glucose / SIEICI-Tofehlel &1 Tei:3TaRITUT

27 .
(d) Loop of Henle-Urine concentration / gelel &I od-HF hT HIGUT|
Identify A, B, C, and D in the given diagram and choose the correct
option / f&U 91T 3IR@ # 2, B, C 3N D & YgdE IR T fAhod o
A
B %\-c;?’c
&
- —
D
(a) A-Actin binding site, B-ATP binding site, C-Head, D-Cross arm
(b) A-Actin binding site, B-ATP binding site, C-Head, D-Side arm
28 (c) A-Actin binding site, B-ATP binding site, C-Head, D-Long arm
(d)

A-Actin binding site, B-ATP binding site, C-Head, D-Short arm




Given below is the figure of a sarcomere.

A to D and select the correct option / A greefaR &1 Ry fear = %I A "D
deh oidel fRT T ATel Y ggarel 3T HEr e o

Identify the parts labeled as

f A D
L o i Toag
G O e Toi0
o e Ty
A B C D
(a) | A-band Z-line H-zone I-band
(b) | A-band H-line Z—zone I-band
(c) I-band |H-line Z—-zone A-band
2
7 (d) | I-band Z-line H-zone A-band
Select the correct option to represent A-E in the given structure of a
neuron / f&T 9T #T WA H A-E H TEdd FaA & v TE fhod T4 :
a2 0 (g
B Y/ "
f
‘1-
|
C—
FI
i ]
N7
{
E«-‘Z'f:}:%
(a) A-Dendrites, B-Cell body, C-Axon, D-Node of Ranvier, E-
Synaptic knob
A-S38eH, B-U §18I, C-UHAld, D-IAR A5, E-fAeiftes Al
(b) A-Axon, B-Myelin sheath, C-Schwann cell, D-Node of Ranvier,
E-Axon terminal
A-UFHlT, B-HAMITT A, C-2d HIAPI, D-TAAR 13, E-UFHieT clateldl
(c) A-Dendrites, B-Cell body, C-Schwann cell, D-Node of
Ranvier, E-Synaptic knob
A-S38eH, BT §18I, C-@TT HIADI, D-IEER a8, E-eiftesw aia
(d) A-Axon, B-Cell body, C-Dendrites, D-Node of Ranvier, E-Axon
terminal
30 A-TUSdlT, B-Wol 18I, C-336¢H, D-IAAR A8, E-UFAld ciiedd

31

given

Identify the parts labeled A to E and choose the correct option for the

diagrammatic representation of reflex action showing knee-jerk

reflex / Heal-gica Sfafsar @ arel Wrads fhar & 3R@TcHs e & fow a
¥ E d& & AR A ggare X AR @@ Reew g4




A-Dorsal root ganglion, B-White matter, C-Grey matter, D-

erent pathway, E-Efferent pathway

) A-Dorsal root ganglion, B-White matter, C-Grey matter, D-

Efferent pathway, E-Afferent pathway

) A-Dorsal root ganglion, B-Grey matter, C-White matter, D-

Efferent pathway, E-Afferent pathway

(d) A-Ventral root ganglion, B-White matter, C-Grey matter, D-
Efferent pathway E-Afferent pathway

(c

Identify different endocrine glands in humans (A-H) / Fﬁfﬂﬁ'ﬁ'ﬁﬁﬁ?ﬂ'ﬁFﬁaﬁﬁ

F
H
(a) A-Pline B-Hypothalamus, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Ovary,
H-Testis
(b) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Ovary,
H-Testis
(c) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Testis,
H-Ovary
32 (d) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Adrenal, F-Thymus, G-Testis, H-Ovary
Identify A to D in the given figure and choose the correct
combination./ &r 31%' Hﬁ?ﬁ H A ¥ D H ggdr«av iR T&r TdreteT ﬂoi?'lQI
A
(a) A-Hypothalamic neurons, B-Hypothalamus, C-Portal circulation,
D-Posterior pituitary
(b) A-Hypothalamus, B-Hypothalamic neurons, C-Portal circulation,
D-Posterior pituitary
33 (c) A-Hypothalamus, B-Hypothalamic neurons,

C-Posterior pituitary, D-Portal Circulation




(d) A-Hypothalamus, B-Hypothalamic neurons, C-Posterior
pituitary, D-Neurohypophysis

The cell wall of plant cells
(a) provides protection

(b) helps in cell-to-cell interaction
34 (c) provides a barrier to undesirable macromolecules
(d) All of the above
Plastid differs from mitochondria based on one of the following features.
Mark the right answer / Tolll€cs H@TI"%{HT o Arafaf@d RAvanRt & @ & &
YR W &eeT g1 Fe1 3TN oA :
(a) The presence of two layers of membrane / %ﬁﬁ' Fr ar qdr &
ERITSIR]
(b) The presence of ribosomes / TIEE’I@TT@' 3ufeafa
(c) The presence of thylakoids / Wﬂlﬂﬁg@}l’ﬁ 39fEufa
> (d) The presence of DNA / 3ITAT Fr sufeafa
Consider the following statements and choose the option containing the
correct statements./fAFAfaf@d YT W AR FN 3T TE FUT gl AheT a1
ol |
I. The endomembrane system includes plasma membrane, ER, Golgi
complex, lysosomes, and vacuoles./ USIHEA QTed 7 ToreAm %ﬁh’,
SR, el diFEcaldd, asa@d 3T RiFasn enfae &
IT. ER helps in the transport of substances, and the synthesis
of proteins, lipoproteins, and glycogen. /§3-TIT gerdt & gRage 3R
WM, fadde 3R TSRS & TLAVUT F HAge AT ol
IIT. Ribosomes are involved in protein synthesis. /Tlgeﬂw Tt
HROWUT H QA gl gl
IVv. Mitochondria helps in oxidative phosphorylation and
generation of ATP. /HW%HT JrerEsfea mglﬂﬁ Tadr &
3cqiesT H HAce &dT gl
36 (a) I, II, IITI, and IV (b) Only I
(c) Only II (d) Only IIT
Select the secondary metabolites from the list given below / A & 31'&“:' H\?ﬁ
¥ gfads I 3cUIET ST TIT Y :
e 1. Alkaloids / Uchalssd
e II. Flavonoids / Feldldissd
e III. Rubber / I
e IV. Essential oils / 3Ta2dqeé ool
e V. Antibiotics / UIaRAIfecHd
e VI. Colored pigments / TN W[ged
e VII. Scents / Qﬂ_?TU
- e VIII. Gums / g

e IX. Spices / HdTel




(a) I to IX / I ¥ IX

(b) All except II and IX / II 3R IX & ®ISH Tl
(¢) I, III, IV, and VI / I, III, IV 3R VI

(d) All except I and VII / I 3R VII &I BIgHT T@ofr

According to Watson and Crick's model of DNA / gieqsT 3T forem & ATAT HAST &
SRS IS

9
(a) DNA exists as a double helix / 3IUAU Udh S ?ﬁw & T H 'cFﬁG;@' %"
(b) The two strands of polynucleotide are antiparallel to each
other / Uleleg(FecIss &I &1 HWATT TH-GEX & [audid faem 7 gl §

(c) The backbone is formed by sugar and nucleic base / deaie 9T 3k
~gfdeieh 98 @ «ei gl ¢

38 !
(d) Both (a) and (b) / (a) 3R (b) &l
The bond energy of which of the following chemicals is the most important
form of energy currency in living organisms? / afefaa & @ g gaafas
TSI T 9Y Fol Sfidl F FoA AT & GOH HecdqUl ®9 H GfaAfed HCr 87
(a) Adenosine Triphosphate (ATP) / USHlT&Hel CISHITHE (ATP)
(b) Nicotinamide Adenine Dinucleotide Phosphate (NADP) / iﬁ$|iéﬂlﬂl$§
TSI SSegfFeldIciss BIEhS (NADP)
(c) Flavin Adenine Dinucleotide (FAD) / Wolldel USHISe SiSeyiFordlcIss
39 (FAD)
(d) None of the above / 3Wied H & Elflé' F@'
Choose the correct statements regarding the cell cycle / HIAPT Teh & FEY
H T FUAT T TTeT H:
(i) M-phase is also called the resting phase because DNA replication
does not occur during this phase / M-dIUl T T IXOT Y gl AT &
Fifh 6 TROT & NI Jruaw gfasfa 787 il &
(ii) Interphase is the time during which the cell is preparing for
division / Sc{thel 98 AT § T RIAHT AT & fov AR & W v &
(iii) The interphase is divided into four prominent phases, i.e.,
GO0, Gl1, S, and G2-phases / 331¢3| FI IR 979 o H fIanfaa foear = %’:
G0, G1, s, 3R G2-TOT
(iv) Interphase represents the phase between the two successive M-
phases / 3eThol I TR M-IRON & &I T ILOT &
The option with correct statements is / H&l &UAT F 1T faseq g:
(a) T and IV / T 3R 1V
4o | P TT and III / 11 3R 111

(c) T and IIT / 1 3R 111




(d) IT and IV / I1 3R 1V

ANSWER

1.Mosses along with lichen are of great ecological importance because
(d) All of the above / 3WIed T

2.Gemmae are asexual buds, which originate from small receptacles called
gemma cups. These are found in

(b) Marchantia / HATIRT|
3.Which of the following statements is false for ascomycetes?
(b) Thallus of Ascomycetes has aseptate, unbranched hyphae / UFaﬁ?ﬂgﬂFRT

a1 dorm foar aafaa 3R fo=r em@nsit arel &as SArer &1 g gl
4.Gymnosperms are characterized by

(b) Seeds not enclosed in fruits / Bl H §¢ H’éﬁ# aret S|
5.Biodiversity can be best defined as

(d) totality of genes, species and ecosystem of a given region / foraY

few a1w & & S, weirferdl iR aIRTELfeRRr T 1 Hel TNl

6.Which of the following is against the rules of ICBN?
(d) Generic and specific names should be written starting with small

letters / @3 3R Gollfd oTH BIC 3HeR ¥ Y& fhT S =gl
7.Choose the incorrect statement.
(a) Notochord is ectodermally derived rod-like structure. / ACIRre

TaeIsH ¥ egcUedl B35 St EEeT gl

8.In an inflorescence, where flowers are borne laterally in an acropetal
succession, the position of the youngest floral bud shall be:

(b) distal / Gl
9.Which of the following statements is correct?
(c) Asymmetric are irregularly symmetrical flowers. / 3N¥Wﬁ??ﬂﬁq

IAAT &7 & GATAT 81 &

10. Which one of the following differentiates plant cells from animal
cells?

(a) Large vacuole, plastid and cell wall / ﬁﬁ'ﬁﬁ?*?ﬂ TolTfEes 3R ST
faf

11. The most abundant lipid in the cell membrane is:
(a) phospholipid / BIEHITATUS]

12. Enzyme catalysts differ from inorganic catalysts in which way?
(d) Both (b) and (c) / @l (b) 3R (c)|

13. The lock and key concept explains the interaction of a particular

enzyme molecule with a specific substrate molecule.
(a) True / "Il

14. The common phase between aerobic and anaerobic modes of respiration
is:
(b) EMP/glycolysis / SUHUI/TSHISAT]

15. The dough kept overnight in warm weather becomes soft and spongy
due to:

(c) fermentation / fohuad|
16. In PS II, active chlorophyll is:




(a) P680 / @680l
17. Photosynthesis in C4 plants is relatively less limited by
atmospheric CO2 because: / C4 Wl H YehIRl HRAIVUT GIHASIT CO2 & IHU&Tehd

A AT gar § it
Answer: (a) there is effective pumping of CO2 into bundle sheath cells

/ Cco2 I g3 MY HIAFHRN F wordy & I 99 A F1ar gl

18. Which hormone plays an important role in phototropism? / $isT AT
gIHTeT SehIRMTATAATT H HecaqoT fAhr fovsirer g2
Answer: (b) Auxins / 3feged

19. Which plant hormone overcomes the natural dormancy of buds,

tubers, and seeds and allows them to grow? / Pl AT Gler E'I?:ﬁ?-r EFF@I'CIT, Har
3R AT & Trhfdeh GedTaedT T FATCT F 3og 6ol @l AT ol g2
Answer: (d) Gibberellin / TSteRfer

20. Removal of the auxin source demonstrates that leaf abscission is
by auxin, and apical dominance is by auxin. / JTfRaeT ara
H g A Ig USRI giar § T o= & 3feena JifFEe gan foram e g,
3R MY yegea 3ifFE=T eanry foram e &
Answer: (d) inhibited, promoted / EleEIFI', Sorar fear |
21. Which one is the correct sequence in glycolysis? / doilsch\ldl$f{:|{-l H

HET HH FT g2

Answer: (b) G-6-P [-» 3PGAL [ 3PGA [J» PEP
22. Pyruvic acid + Co-A + NAD+ - Acetyl Co-A + CO2 + NADH + H+. This

reaction is known as: / URITde 31Fd + Co-A + NAD+ — Qﬁlalsﬂ Co-A + CO2 +
NADH + H+. 38 JfRFHAT I Fgd 8
Answer: (c) Both (a) and (b) / @il (a) 3R (b)

23. Which hormones stimulate the production of pancreatic juice and

bicarbonate? / il ¥ AT =gl I 3R Gllschlsﬁo:IC % IcUTesT &l 3afold ld
g2
Answer: (c) Cholecystokinin and secretin / mﬁmgﬁﬁﬁ'{ ﬁ%ﬁﬂ'

24 . In the given diagram of the breathing mechanism, what do A, B, and
C depict? / @9 dF & feU 0 3@ & 2, B 3R c FT AT &2

Answer: (b) A-Air expelled from lungs, B-Ribs and sternum returned to

the original position, C-Diaphragm relaxed and arched upward / A—EI'I'<’3I"9
sl A aeY et §, B-gaforn 3 qarf@y rvel Hor feufa & dteq &, c-srme&A
faIfarer iR FW &1 3R AT 37

25. After forceful inspiration, the amount of air that can be breathed
out by maximum forced expiration is equal to: / ar»rqgﬁa: OO & diq,
3w JoqdH 2aHT @RI STeX fATel ST arelr arg T AT & e Bl

Answer: (c) IRV + TV + ERV
26. Arrange the following parts of the nephron sequentially and select

the correct option accordingly: / AWIT fAFATITET HEN I HHAIR TITEAT
A AR F@E e |
Answer: (b) I - IV > III - II - VI - V

27. Choose the mismatched part of the nephron and its function: / %Pl




& IeId SIS T H9T IR 3TF PR FT TAT |

Answer: (c) DCT-Reabsorption of glucose / W—WW %H:HHQWUT

28. Identify A, B, C, and D in the given diagram and choose the
correct option: / feu T INT H A, B, C I D Eﬁmﬁ’ﬁ?ﬂﬁ'ﬁﬁw_«qﬂﬁl
Answer: (b) A-Actin binding site, B-ATP binding site, C-Head, D-Side

arm
29. Given below is the figure of a sarcomere. Identify the parts

labeled as A to D and select the correct option: / I gAY @ = fear
I §l A @ D Th ol fhT aw et T ggE AR FE Ao ol

Answer: (a) A-band, Z-line, H-zone, I-band
30. Select the correct option to represent A-E in the given structure

ofaneuron:/ﬁWWWﬁA—EﬁWW%WWW%ﬁI

Answer: (a) A-Dendrites, B-Cell body, C-Axon, D-Node of Ranvier, E-
Synaptic knob

31. Identify the parts labeled A to E and choose the correct option for
the given diagrammatic representation of reflex action showing knee-

jerk reflex: / @—Wmmmwm%mm
& T A @ E dF & ol f ggae IR A Ao I+

Answer: (a) A-Dorsal root ganglion, B-White matter, C-Grey matter, D-
Afferent pathway, E-Efferent pathway

32. Identify different endocrine glands in humans (A-H): / mgrzfr p=
AfFesT ra:amEr Ifdai (a-H) T gga HI
Answer: (a) A-Pineal, B-Hypothalamus, C-Pituitary, D-Thyroid and

Parathyroid, E-Thymus, F-Adrenal, G-Ovary, H-Testis
33. Identify A to D in the given figure and choose the correct

combination: / & IE 3MHid H A & D &I Ygailaw 3R FE HAGA FiAv|

Answer: (b) A-Hypothalamus, B-Hypothalamic neurons, C-Portal
circulation, D-Posterior pituitary.

34. The cell wall of plant cells provides: / gt T Fifer AT vereT FAr

Answer: (d) All of the above / 3Wiad T
35. Plastid differs from mitochondria based on one of the following

features. Mark the right answer: / Colli¥es HSCIhIesdl & fAFdAfafad
AVt & & v F YR W Bewt §1 A& 3IW -
Answer: (c) The presence of thylakoids / maﬁﬁssxr $r 3urEyfa|

36. Consider the following statements and choose the option containing

the correct statements: / [aFafaf@d YT W R & 3K T YA drel
Rrared 1 ot
Answer: (a) I, II, III, and IV.

37. Select the secondary metabolites from the list given below: / A &r

TS G ¥ gfadae TATd 3curel T aIT F:
Answer: (a) I to IX / I ¥ IX|
38. According to Watson and Crick's model of DNA: / areqd 3R fre &
ATAT ASA & 3TN :
Answer: (d) Both (a) and (b) / (a) 3R (b) @il

39. The bond energy of which of the following chemicals is the most
important form of energy currency in living organisms? / efaf@aa &




¥ TrE TS e T U ol Sidl # Fofl Hel T &8 Agea ol &9 g:
Answer: (a) Adenosine Triphosphate (ATP) / @a’@?rz:gq»‘”r@»—c (ATP) |

40. Choose the correct statements regarding the cell cycle: / HIfAT TH
& T H TE HYAT H TIA B

Answer: (d) II and IV / II T 1v




JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAMINATION

Session202 : 4-2025
MODEL QUESTION PAPER
CLASS-XI | SUBJECT-English Elective | TIME- 1 HOUR F M -40

GENERAL INSTRUCTIONS:
e Total number of questions is 40.
Each question carries 1 mark.
Four options are given.
Students are expected to select the most appropriate answer.
All the questions are compulsory.
No marks will be deducted for wrong answer.

Read the following passage carefully and answer question nos. 1-5.

Nobody comes to Novastoshnah except on business, and the only people who have regular business
there are the seals. They come in the summer months by hundreds and hundreds of thousands out of the
cold grey sea, for Novastoshnah Beach has the finest accommodation for seals of any place in the world.
Sea Catch knew that, and every spring would swim from whatever place he happened to be in-would
swim like a torpedo boat straight for Novastoshnah, and spend a month fighting with his companions
for a good place on the rocks as close to the sea as possible. Sea Catch was fifteen years old, a huge
grey fur- sealwith almost a mane on his shoulders, and long, wicked dog teeth. He was scarred all over
with the marks of savage fights, but he was always ready for just one to fight more. Yet Sea Catchnever
chased a beaten seal, for that was against the Rules of the Beach. He only wanted room by the sea for
his nursery; but as there were forty or fifty thousand other seals hunting for the same thing each spring,
the whistling, bellowing, roaring, and blowing on the beach were something frightful. From a little hill
called Hutchinsons Hill, you could look over three and a half miles of ground covered with fighting
seals; the surf was dotted all over with the heads of seals hurrying to land and begin their share of the
fighting. They fought in the breakers, they fought in the sand, and they fought on the smooth-worn
basalt rocks of the nurseries; for they were just as stupid and unaccommodating as men.

1.Why do seals come to Novastoshnah?
a.Tomate b. Torestc. To find the best accommodation for seals d.To hunt for food
2.How does Sea Catch reach Novastoshnah every spring?
a.He walks on land b. He takes a boat c. He swims like a torpedo boat d. He flies
3.Whatis Sea Catch’s physical appearance like?
a.Small and weak b. Large and grey with a mane and long teeth c. Black and sleek d.White and fluffy
4.How does Sea Catch behave towards defeated seals?

a. He chases them away b. He leaves them alone c¢. He kills them d. He fights them more

5.How do the seals behave towards each other on Novastoshnah Beach?

a. They live in harmony b. They are peaceful and accommodating c. They are aggressive and
unaccommodating d.They are shy and hide.

Read the following lines from a poem carefully and answer question nos. 6-8.

"l am, of course, dark, but you see,

it is not that dark,

and I’'mnot quite that dark.

It’s really a very brilliant, lovely dark."

6. In these lines the speaker’s tone can be best described as:
A) Serious and apologetic



B) Sarcastic and humorous

C) Confused and uncertain

D) Angry and confrontational

7. What literary device is used in the phrase "black as night" to describe his skin color?
A) Alliteration

B) Simile

C) Metaphor

D) Personification

8.What does the poet’'s description of his skin as "a very brilliant, lovely dark" primarily suggest?
A) The speaker is self-conscious about his skin color.

B) The speaker is trying to convince the landlady of the beauty of his skin color.

C) The speaker is mocking the landlady's fixation on his skin color.

D) The speaker is ashamed of his dark skin.

9.In anarticle, the title should:

a) Be as long as possible to explain the topic in detail
b) Be catchy and related to the article's content

c¢) Contain complex vocabulary

d) Avoid using any keywords

10. What is the purpose of the conclusion in an article?
a) To introduce new information

b) To provide a final opinion or summary

¢) To ask questions

d) To describe future predictions

11.In "The Lament," what is the main reason for the protagonist's grief?
a) The death of a loved one

b) The loss of his job

c) The loss of his money

d) The failure to find a lost dog

12. What is the significance of the mustachios in the story "A Pair of Mustachio™?
a) They symbolize the protagonist’s manliness and social pride

b) They are a symbol of rebellion against society

c¢) They represent his family’s tradition

d) They indicate his desire to change his career

13. In "The Rocking Horse Winner," why does Paul ride the rocking horse?
a) To escape his mother's harshness

b) To make money and please his mother

¢) To gain attention from his family

d) To fulfill a childhood dream

14. What is the central mystery in "The Adventure of the Three Garridebs™?
a) The disappearance of a famous scientist

b) The search for a rare inheritance

¢) A murder case with no suspect

d) The identification of a hidden treasure

15. Why does Pappachi react violently when he sees the moth?
a) Because it reminds him of his failure
b) Because it destroys his favorite item



c) Because he sees it as a symbol of his lost power
d) Because he believes it is a bad omen

16. In "The Third and Final Continent,” the protagonist struggles with:
a) The loss of his family

b) Adjusting to a new country

c) His relationship with his wife

d) His career choices

17. In "Let Me Not to the Marriage of True Minds," what does Shakespeare compare true love to?
a) A fleeting moment

b) A changing season

c) A star that guides sailors

d) A storm that blows with the wind

18. What does the poet convey about change in the poem "Coming'?
a) Change is inevitable and should be embraced

b) Change is often unwanted and brings uncertainty

c¢) Change is natural and always positive

d) Change only happens in the physical world, not in the emotional

19.What does the poet wish for in "The World is Too Much with Us"?
a) To returnto a time when humans were in tune with nature

b) To experience the riches of the modern world

c) To see the end of industrialization

d) To find peace in isolation

20. In "Mother Tongue,” what does the poet express about language?

a) Language is a barrier to communication

b) The poet expresses pride in their native language and its cultural significance
¢) Language is a tool for expressing global unity

d) Language is not important in shaping identity

21. In "Ode to a Nightingale,” the nightingale symbolizes:

a) The fleeting nature of beauty
b) Immortality and eternal beauty
¢) Suffering and pain

d) The power of love

22. In "My Three Passions," what does Bertrand Russell say are his guiding passions in life?
a) Science, art, and religion

b) Knowledge, love, and nature

¢) The search for truth, the pursuit of love, and the joy of intellectual curiosity

d) Power, wealth, and fame

23.In "My Watch," what does Mark Twain humorously reflect on?
a) The absurdities of timekeeping

b) The difficulty of being punctual

¢) The importance of discipline

d) The complexities of human nature



24. In "Patterns of Creativity,” what does S. Chandrashekhar explore?
a) The role of scientific discovery in the modern world

b) The connection between creativity and science

¢) The impact of creativity on business

d) The importance of structured learning for creativity

25. In "Tribal Verse," G.N. Devy discusses:

a) The challenges faced by urban poets

b) The importance of preserving tribal languages and cultures through poetry
¢) The influence of Western literature on Indian poets

d) The evolution of poetry in modern India

26.In "What is a Good Book?", John Ruskin suggests that a good book:
a) Should only entertain the reader

b) Should be complex and difficult to understand

¢) Should challenge the reader’s thinking and emotions

d) Should focus on historical events

27. E. M. Forster in "The Story" emphasizes that a story must:
a) Be based on real-life events

b) Follow a strict set of rules

c¢) Evoke emotion and provide a sense of continuity

d) Focus solely on character development

28.According to Lakhia in "Bridges," bridges symbolize:

a) The importance of urbanization

b) The need for crossing boundaries and overcoming obstacles in life
¢) The dominance of man over nature

d) The separation between cultures

29. Who is the poet of the poem”The Peacock”?
a) Philip Larkin
b) John Keats
c) TedHughes
d) Sujata Bhatt

30.Which character in "Arms and the Man" challenges the traditional notions of love and romance?
a) Raina

b) Louka

¢) Bluntschli

d) Sergius

31. Who serves as the True friend and companion to Lona?
a. The horse

b. Father

C. Cab driver

d. None of these

32. They..... here for decades.
a. Live b. Lived c. Living d. Left

33. The author of “Patterns of Creativity” is a noted:
a. astrophysicist b. chemist c. doctor d. painter



34. The author*s watch was running hours ahead.

a. three hours b. four hours c. six hours d. one hour

35. At first the author gave his watch to a to get it repeated. a. jeweller b. mechanic c.
technician d. all of the above

36. Bertrand Russell has written numerous popular works on:
a. philosophy b. politics c. education d. all of the above

37. The third passion of the author is to remove:

a. pain and suffering b. the king c. debt d. Debris

38. What does the Petkoff family brag about?

a. their crest b. their basement c. their horses d. their library
39.Santiago fishes with the boy called

a. Manolin b. Samuel ¢. Thomas d. Jerry

40.When the novel opens, how long has it been since Santiago last caught a fish? a.. 40 days b. 84 days
c. 87 days d. 120 days



Answer Key:

6.B) Sarcastic and humorous

7. B) Simile

8. C) The speaker is mocking the landlady's fixation on his skin color.
9. b) Be catchy and related to the article's content.

10.b) To provide a final opinion or summary.

11.
12.

¢) The loss of his money.
a) They symbolize the protagonist’s manliness and social pride

13.b) To make money and please his mother

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

b) The search for a rare inheritance

c) Because he sees it as a symbol of his lost power

b) Adjusting to a new country

c) A star that guides sailors

b) Change is often unwanted and brings uncertainty

a) To returnto a time when humans were in tune with nature

b) The poet expresses pride in their native language and its cultural significance
b) Immortality and eternal beauty

¢) The search for truth, the pursuit of love, and the joy of intellectual curiosity
a) The absurdities of timekeeping

b) The connection between creativity and science

b) The importance of preserving tribal languages and cultures through poetry
¢) Should challenge the reader’s thinking and emotions

c) Evoke emotion and provide a sense of continuity

28 b) The need for crossing boundaries and overcoming obstacles in life
29 d)Sujata Bhatt

30 b) Louka

31 a) The horse

32 b) lived.
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STTRET TG T e &7 2 When did Americabecome Independent?
(a) 1127 (a) 1127
(b) 1783 (b) 1783
(c) 1776 (c) 1776
(d) 1772 (d) 1772
THRIRT fhey T 9 ? What was an amphora?
(a) HEH AT R (a) Pots or container
(b) T B BT (b) Weighting Device
(c) IF T=TD (c) Book
(dy RINIT (d) King
RIS HamTeT & Hee fhad & ? Which of the following is related to the epic “Gilgamesh”?
(@) fas
(b) e (@) Egypt
() TR (b) Mesopotamia
@ g"\’FT (c) Greece
(d) Iran
Are ¥ fhgeT SeteTelT 2m? Who had the dominance in the Senate?
(a) 3TfroTTer off
(b) o (a) Aristocrat class
(c) ¥ (b) Slave
(d) TIPS T (c) Army
(d)  None of these
STATSCH T U ? Who were equites?
(a) RIE

(a) Horseman



10.

1.

12.

13.

qrgferfor 3 e SAFYSRT &2
(a) &I foTRy giep
(b) forfr
(c) aiferg
(d) T IPE T
TAST G T ST-H e 3T AT 2
(a) 1162 %o
) 1163 %o
(c) 1161 %o
) 1165 %o

aferfoary

Mforep drefl T faep T el garm?
(a) ik
(b) NICIEE]

(c) s
(d) B H
R HHTSY D&l e thefl §3AT AT?
(a)  3ifthar
(b)  SfEroft arfmer
) @
(dy  far
Tt &t I st Tt oY et oft 2
(@ W
(b) FATEH
(c) TUR
@

c

SR @I BT SATEHHUT fieedT U e 83T 2

(a) 1398
(b) 1498
(c) 1298
(d) 1358
TTSA PR T AT?
(a) EEERESSININEISIER

(b) IR
(c) e 15T Y 31T fHAT ST 1T IR
(d) I ot

(b) King
(c) General Public
(d) None of these

What is meant by the term “Manuscript’?

(a) A hand written book
(b) Script

(c) Record

(d) None of these.

When was Genghis Khan born?

(a) 1162 AD
(b) 1163 AD
() 1161 AD
(d) 1165 AD

A major characteristic of medieval Europe was...

a) Feudalism
b
c) Urbanization

~

(
( Slavery
(
(d) Superstition
Where did the Gothic Style evolved?
(a) - In China
(b)  In Japan
(c) In England
(d) In France

To what extent did the Roman Empire was expand?
(a) Africa
(b)
(c) lIraq
(d) Syria

Southern Africa

What was a dearth in Steppe areas?
(a) Animal
(b)
(c) Business
(d)

Resources

Agriculture

When did Taimur Lang attack Delhi?

(a) 1398
(b) 1498
(©) 1298
(d) 1358

What was Tile Tax?
(a) Church Tax
(b) Income Tax
(c) Tax payable directly to the state



14.

15.

16.

17.

18.

19.

20.

21.

JSTRROT AT el IR HRY g31T?

(d) All of these

Where did the renaissance firstbegin?

T I THTC DI 2
(a) 3TRCH
(b) PrACACRA
(c) AT
(d) TS el
TR foraT e e TR H 31T 2
(a) 1902
(b) 1903
(c) 1901
(d) 1904
ST AHETST BT HATD BI 2AT?
(@) dgEr
(b) SRTEE
(c) TWTEM
(d) DA T
T ¥ et STFTareT qTT BHi-t ofi?
(@)  ATfIT AT
(o) ZAT
(c) R
(@ R
AT T g2 19T 27 off 2
(@ iR
(b)  SEATRY
(c) G
(d) ST YPRE T
HEADTeA 1 IRIT FHIS & UTeRT ot ot & Sferier 37Ty 9r?
(@ g
(b) I3 Ff
(c) [EGIRER
(d) o oif

ZRIY ¥ STl e H FaRT UgeT feheehT TATHT 8% 2

(a)
(b)
(c)
(d)

TR &Y
TR DY
frafenerar &
ahledl Y

(a) Italy

(b) Japan

(c) Germany
(d) Europe

Who was the first roman ruler?

(@)
(b)
(c)
(d)

Augustus
Constantine
Trajan

None of these

When did Australian Union come into existence?

(a)

1902
1903
1901
1904

Badu Khan
Jochi Khan
Genghis Khan
Kublai Khan

Which language was spoken in Rome?

)
b)
)
)

Latin
Greek
Persian

Arabic

What was the first Language of Mesopotamia?

(a)
(b)
(c)
(d)

Sumarian
Devnagri
Chainies

None of these

To which category did the priest in the medieval Europe belong to?

(a)
(b)
(c)
(d)

Third
Fourth
Second
First

Which of the following was the first established in the city of Italy in

Europe?

(a) Cities
(b) Towns

(c) Universities



22.

23.

24.

25.

26.

27.

PIMT 3 pTeT  YefTTeT ST i uger?
(a) 1511
(b) 1512
(c) 1513
(d) 1514

(2]
= 2 =

a) wEH

(a) T
(b)
(c) Ithel
(d)

JITRT 1Y 9T BT SIASHR T fohar?

e ey T arater & o

(a) 1913-1917
(b) 1914-1919
(c) 1914-1918
(d) 1916-1919

(d) Lawyers
In which period did the Portuguese firstreach china?

(a)
(b)
(c)
(d)

Liverpool is located in -

(a)
(b)
(c)
(d)

1511
1512
1513
1514

France
Germany
Japan
England

Who wrote the book “The last Supper”?

(a

)
b)
)
)

Dante
Michael Angelo
Raffel

Leonardo da Vinchi

Who invented the first steam engine?

(a)
(b)
(c)
(d)

James Watt
Thomas Newcomen
Stephen Son
Richard Arkwright

What was the duration of 1st world war?

(a)
(b
(c
(d

1913-1917
1914-1919
1914-1918
1916-1919

Y Y DT H SR HoAT T 3T Bl §IAT? When was slavery abolished in the united states?

(a) 1860 (@ 1860
(b) 1865 (b) 1865
(c) 1855 (c) 1855
(d) 1863 (d) 1863
. T UR 3R DT JTHHUT e GIAT? When did the Arabs invade Spain?
(@) 711 AD (@ 711 AD
(b) 709 AD (b) 709 AD
(c) 611BC (c) 611BC
(d) 705 AD (d) 705 AD

. apfefy T &7 What is Varkashirsh?

(a) St BT RR FRR BT (a) The woman’s head is made of Marble
(b) AT & Teh TeTs] (b) A hillin Masopitamia
(c) )
(d) (d)

QO

TSt T TTeit

sﬂ'ﬁfﬁﬁ'ﬁ:@r Type of Fish

o

None of these



30.

31.

32.

33.

34.

35.

36.

37.

BIRT H PYD! BT facle o g3 2

TR T STSfelel T ST 3FdTe e fohar?

(a) 1323
(b) 1381
(c) 1358
(d) 1325

(a) 1522
1525

(a) I

Who is Ahur Mazda?

(a) God

(b) King
(c) Saint
(d) Leader

Where did Marco Polo hail from?
(a) ltaly
(b
(c

(d) France

)
) Germany
) Ingland

)

When did the peasant’s revolt take place in France?
(a) 1323

(b) 1381

(c) 1358

(d) 1325

Luther translated the Bible into Germaniin.....

(a) 1522
(b) 1525
() 1521
(d) 1528

Who wrote the book “The Prince”?

(a) By Michelangelo
(b) By Rousseau
(c) By Dante

(d) By Machiavelli

Which country’s colonial territory was Ireland?

(a) France
(b) Germany
(c) Japan

(d) England

In which continent is china located?

(a) Asia

(b) Europe
(c) Africa
(d) America

Who invented the telescope?

a Isaac Newton

(] Galileo

(a)
(b) Gutenberg
(c)
(d)

Copernicus



38. T[T P PITHH BT aIT PHET STl 872
(a) ST =T
(b) f&T

(c) gs&

(d) et

39. DINAT Bl UgetT AT AUy DI off 2
(a) UTH-TH-§
(b) T G
(c) foms
(d) foeT 37 &7
40. 9 H UgelT IR Afeetrell T AaaM 5har?
a) 1944
b) 1949
c) 1955
d) 1946

(
(
(
(

What is the term for the Chronology of events called?
(a) Number Calculation

(b)  Day
(c) Morning
(d) Chronicle

Who was the first woman president of Korea?
(a) Park-Geun-hye
(b) Park Khan
(c) Kimday
(d) Kinsehung
When did the women in Japan vote for the first time?
(a) 1944
(b) 1949
(c) 1955
(d) 1946
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TATGRI foIcaT ;- General Instructions: -

o Sﬂnﬂauﬂa‘igﬂm U%I2 | (There are total 40 questions in this question paper.)

o 13l usor 3iforari 2 | (All questions are compulsory.)
o URID Ul & feu 1 3ib foreri3ad | (Each question carries 1 mark.)
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given for each question, choose the correct option.)
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answers.)

(REIRCIR] Td SFRIRSAT IS bl
ey frad 82

(a) TafaROT e

ORUGEERNIS

(c) M YTl

(d) 3TH Y P15 81

2. IR argred | fo aadl ot
RIRC IR

(a) TR IS T Biferam

(b) TTSCIoM U4 Sfiaiior

(c) 3 wd 3=

(d) fY9 Td p1e SRS S

3. T[T 3RTia farT & URdl bt AT
HI HEd 57

(a) UUST 3R Hed

(b) Hicd SR Pl

1. Settlement Geography and Population
Geography are related to?

(a) Environmental Geography

(b) Physical geography

(c) Human geography

(d) None of these

2. Which elements were abundant in the
early atmosphere?

(a) Hydrogen & Helium

(b) Nitrogen & Oxygen

(c) Argon & Neon

(d) Methane and Carbon Dioxide

3. The boundary of which two layers is
called Gutenberg discontinuity?

(@) Crust and mantle

(b) Mantle and Core



(c) STRI 1S 3R 3AND B
(d) 375 q PI Ta¥

4. 'HENTRIY 3fedd faear’ Rigid &1
Ufaare feeg- faar?

(a) TR

(b) AT U

(c) 3R g

(d) e e

5. fFufafed & @ oF 91 =asy yad
P IURSTHD Wi gRT Afda Tt
gl

(a) GRS

(b) S

(c) BAF e

(d) STePT XU

6. ITH TG DI IR B8l U 8 67
(a) STUM

(b) Yd
(0 dfes

(d) Yot

7. 79 4 O foy saremgd! ueR 9
aifie dRA araT Ualed aidl 87
(a) SITETYET S

(b) TS Sarargt

(c) Xfies SaTarg!
(d) S9Tee UdTg

8. fHaY # It Ae | 98+ are TH
Td Y &1 DI FT Hel oIl 87

(a) Pl

(b) L

(c) TTYTR® o

(d) ITH Y P 8T

9. fRHTeT fPg IR & 3f@gTel ¥
fAffag?

(c) External Core and Inner Core
(d) None of these

4. Who propounded the theory of
'oceanic bottom expansion'?

a) Wegener

b) Arthur Holmes

c) Arthur Holmes

d) Harry Hayes

—_ A~ o~ o~

5. Which of the following landforms is
not formed by the erosional force of
wind?

(a) Yardang

(b) Zeugen

(c) Mushroom Rock

(d) Dune

6. Where does the word tsunami
originate from?

(@) Japan

(b) French

(c) Latin

(d) Portugal

7. Which of the following volcanic types
contains the most liquid lava flows?
(a) Caldera Volcano

(b) Composite Volcano

(c) Shield Volcano

(d) Basalt Flow

8. What is the name given to the hot and
dry air blowing in the northern plains in
summer?

(a) CO3*

(b) H.CO3

(c) OH~

(d) H0

9. The Himalayas are formed by
sediments of which ocean?



(a) < AR

(b) 3Mbfeh TR
(c) 3RT TR

(d) YHST TR

10. 9 & 9 ®F 91 fere gri fAfifa
IERIFREINESE R

(a) fPaNs

(b) b

() 3MRd

(d) TWDhY

11, SIRYT YRS IauyH fra
U far?
(a) SR 3R B

(b) AT
(c) SHIIUA Hic

(d) dafcl wa Afee

12. HIff® Ui 3Muel & i
?ﬁ@ﬁﬁ@%@ﬂﬁ%ﬂmw
?

(a) IUIBHICaLT Thdid

OIEEES!

(0 H&ddd

(d) G

13. 3fTUel Uaed fAHTH &a uid
foar am?

(a) 2011

(b) 2005

(c) 2000

(d) 1991

14, HRd &1 UYH Sd Hed HTg S 82
(a) Harad!
(b) THH

(0 Yaxad
(d) ]

a) Tethys Sea

b) Arctic Sea

c) Arabian Sea

d) Mediterranean Sea

—_~ o~ o~ —~

10. Which of the following is a
depositional landform created by a
glacier?

(a) Fjord

(b) Cirque

(c) Arete

(d) Esker

11.  Who was the first to propose the
tidal hypothesis?

(a) James and Jefferies

(b) Laplace

(¢) Emmanuel Kant

(d)  Chamberlin & Moulton

12. Which of the following can be
included under terrestrial natural disaster?
(@) Tropical cyclones

(b) Bird Flu

(¢) Landslide

(d) Tsunami

13. When was the Disaster Management
Act passed?

(a) 2011

(b) 2005
(c) 2000
(d) 1991

14. Who is the first biosphere reserve of
India?

(@) Nanda Devi

(b) Nokrek

(¢) Sundarbans

(d) Nilgiri



15. Fe fbg UHR & a1 H U 91 §7?
(a) TaEER I

(b) HAg T

(c) JuTgTet @

(d) ®iceR -

16. Fgfafad § ¥ foo- ugitsal &
TRTYN 3R AR fRd g7

(a) @t

(b) TR

(c) A

(d) Srfaan

17. 99 ¥ @ Dol AeTgIUigdm sgHd Bt
ST 872

18. 390 J DI 1 HUT UGId T¢1 B
IR A W g?

(a) TGO 7l T GRAYT AN IR
ERGI

(b) 39 AfCTl BT YaTg AFYA BI SR
R AR Farg
(¢ T8 ATl SReART T g

(d) ST o T qt|

;.Tﬁ%ﬁwm'ermﬁwaﬂww
?

(a) e

(b) HIFY T

(c) HETMdl

(d) TMGTaRT

20. YRd H ST I0d B ardl
T HI T 8?

(a) YRdlS

(b) e

15. Sandalwood is found in which type of
forest?

(a) Evergreen Forest

(b) Mangrove Forests

(c¢) Deciduous Forests

(d) Thorny forest

16. FofaRad & @ ®F U7« gEeidben
87

(a) Khasi

(b) Garo
(c) Naga
(d) Jaintia

17. Where is continentality experienced?
(@) Mumbai

(b) Chennai

(c)  Visakhapatham

(d) ~ Haryana

18. Which of the following statements is
correct about the Peninsular River?

(@) The Peninsular rivers follow a definite
course.

(b) The flow of these rivers depends on
the monsoon rains.

(c) These rivers are not perennial.

(d) All of the above.

19. Gandhi Sagar Dam is built on which
river?

(@) Chambal River

(b) Kosi River

() Mahanadi
(

d) Teras!

20. Which is the coal producing structure
in India?

(a) Dharwad

(b) Vindhyan



(© T
(d) TeaHT

21, AGRIY UFH U B g T J ST

ST 87

ORELE

(b) HEGRRI

(¢ Faft

(d) STH Y PIS 5l

22. feure fFufoRad # © fogat
JCTERT 2

(a) a1 aferd uddwTer

(b) MUY yddHT

(c) UgIUld UdR

(d) IES Udd
23.UTsh STdsHS Hed fh o o fRUd

g7

(a) P P! WIS! 3R YHIT BT WIe!
(b) TR &1 WISl 3R S H1 Wra!
(c) T&EIT 3R AdeT

(d) 3fSHM 3R FPaR diu Tgg

24, 3f&31 Mt ARG UTS Fei U B2
(a) gdi gre

ORIELIEIE

(¢) 3Rraeh guft

(d) fdeomerer goft

25. TN H ofdt b1 7 gt 82
(a) SR AR

(b) 31T TS

(@)

(d) TTH A HIS 8T

26. MR STd &t 3Nd AUIdT =T
PPT 872

(a) 30

(b) 35

(c) Cuddapah
(d) Gondwana

21. The Maharashtra Western Ghats are
known by which name?

(a) Sahyadri

(b) Mahendragiri

(c) Nilgiri

(d) None of these

22. Himalayas are an example of which
of the following?

(@) Newly formed mountain range

(b) Residual mountain range

(c) Peninsular Plateau

(d) Upwarped mountain

23. Palk Strait is located between:

(a) Gulf of Kutch and Gulf of Khambhat
(b) - Gulf of Mannar and Bay of Bengal
(c) Lakshadweep and Maldives

(d) Andaman & Nicobar Islands

24. Where is Indira Gandhi National Park
located?

(a) Eastern Ghats in India

(b) Western Ghats in India

(c) Aravalli Range

(d) Vindhyachal Range

25. What is the movement of water in
waves?

(@) Upand down

(b) Back and forth

(c) Circular

(d) None of these

26. What is the average salinity of
oceanic water?

(a) 30

(b) 35



27. 3dH IJUIdT Tl 9 Sid [y
S H RYd 2

(a) HRd

(b) g T SARBT

() gl

(d) S

28. FC YIS dl Bl SGUTUN o Dt
T3 ot

(a) 1997

(b) 1998

(c) 2005

(d) 2006

29. F 9 & T ol o dar faT iR 3d
FaTe?

(a) faya ¥ar

(b) P @l

(c) AP 3@

(d) Ya

30. Mg arg forw fomn & dqw -7et
e

(a) émﬁéﬁaeﬁaaﬁu?
(b) dTUHE & e T
() AUHM & g1 U

(d) AT & RRTAR

31, UMY F1ed B HaTs G- fosaH
Bich 87

(a) 5000 ¥ 6000 Hiex

(b) 4000 ¥ 7000 Hiex

(c) 8000 ¥ 12000 HIeX

(d) 10000 ¥ 16000 HIeX

32. 9HEE 394 Af¢ gR-gR &1 dl 9 &=
H g9 ygurdr 3l gidl g2

(c) 40
(d) 45

27. In which country is Lake Van with the
highest salinity located?

(a) India

(b) United States of America

(c) Turkey

(d) Iran

28. When was the Kyoto Protocol
promulgated?

(a) 1997

(b) 1998
(c) 2005
(d) 2006

29. Which of the following has the
longest day and night?

(a) Tropic of Globe

(b) Tropic of Cancer

(c) Tropic of Capricorn

(d) Pole

30. In which condition the saturated air
will not remain saturated?

(a) Decrease in temperature

(b) Decrease in temperature

(c) Rise in temperature

(d) Temperature remains constant

31. What is the average height of a cirrus
cloud?

(a) 5000 to 6000 meters

(b) 4000 to 7000 meters

(c) 8000 to 12000 meters

(d) 10000 to 16000 meters

32. What is the pressure gradient in an
area if isobars are spaced apart?
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(b) 3

() TG
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(a) TRy

(b) SIS

(c) Ydredl

(d)
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(a) add T Y h

(b) YT |

(o) d1el AT g8 Haer
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38. Hifd® 3MUed & forg Tad Ag@yul

a) More
b) Less
c) Zero
d) None of these
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33. Generally, the temperature
decreases with altitude. What is this
called?

(a) Inverse temperature

(b) Normal lapse rate

(c) Rate of temperature decrease

(d) None of these

34. On which date does the Sun become
perpendicular to the Tropic of Capricorn?
(@) 21st June

(b) 22nd December

(c) 3rd January

(d) 4th July

35. What is the reason for the movement
of wind?

(a) Rain

(b) Humidity

(c) Condensation

(d) Difference in air pressure

36. Which depositional landform is
formed by groundwater in limestone
regions?

(a) Sinkhole

(b) Doline

(c) Uvala

(d) Stalactite

37. Which category can the debris flow
be classified into?

(a) Concave or subsidence

(b) Landslide

(c) Rapid flowing large-scale movement
(d) Slow flowing large-scale movement

38. What is the most important factor for
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(a) dTIH
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39. Ul &1 ey g8 T Wie R A 9
M §?
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(a) T

(b) TH A

(0 oY 3R Ty =

(d) 370 & PIS T

physical weathering?
(a) Temperature

(b) Humidity

(c) Biological processes
(d) Human intervention

39. Which is the largest tectonic plate of
the Earth?

(a) Indo-Australian Plate

(b) Eurasian Plate

(c) North American Plate

(d) South American Plate

40. Which seismic wave has a shadow
zone extending from 105 degrees to 145
degrees from the earthquake focus?

(a) P-wave

(b) S-wave

(c) P and S waves

(d) None of these
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Model Question Paper (Sfagst wer usr)
(2024 - 2025)

MCQ BASED QUESTIONS
(75 frerea-smmaTia w=)

Class - 11
(Far- 11)

Subject - Commercial
Arithmatic
(ferrer -aforfsares siemior)

F.M.-40
(it - 40)

Time 1 Hour

(Fma- 1 Ha)

INSTRUCTIONS/f&wr :
¢+ There are 40 Multiple Choice Questions.

T 40 ag faFer-sramRa w1 2

¢+ All Questions are compulsory. Each question carries 1 mark.

aeft wert o 39 srfRard 21 g v o forw we st fReiia @

++ Four options are given for each question, choose one of the correct option.

TEF 7 F AT e R T €, 5§ uw Her e w5 w6 w7

¢+ There is no negative marklng for any wrong answer.
AT I & [T il 3k Al Hle TG

1. 65.30924 &I AT P al F&l dd Y& (-

Write 65.30924 correct up to two decimal places-

(@) 65.30

Find the root of 7,92,348 to the nearest thousand-

(b) 65.309 (c) 65.31
2. 7,92,348 &I IcT BoIR & Afoercbe ferplei-

(@) 793 &R (b) 792 sER (C) 7923 &R
3. /0.0169 &1 TAHCT B UH W ddb Afeoldbe feldbloi-
1/0.0169 rounded off to one decimal place gives-

(@) 0.1

(b) 0.2 (c)o.13

4. 2 WIc 9 ST Pl IS B <Fd H TSU-

(d) 65.3092

(d) 79 @R

(d) 1.3
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10.

11.

Conwert 2 feet9 inches into decimal of yards-
(@) 12.43 are (b) 0.916 = (c) 1.61 3T (d) 90 aret

3feldd ¥ 200 Ufd A& Td Jellad 3 250 Ul AE HAGT 21 Ae I Q& H 175

Ui A8 @ WA &, @ 3qB IId B IUIT 8-

Anil earns Rs 200 per month and Sunil earns Rs 250 per month. If both of them
spend Rs 175 per month, then the ratio of their savings is-
(@) 4:5 (b) 1:3 (c) 8:7 (d) 10:7

. X+Y=30 3R x:y= 3 : 2, d X &I A -

X+Y =30and x:y= 3 : 2, then the value of Xis-
(@) 30 (b) 20 (c)1s d) 12

4, 5 @ 12 BT agd AU -
The fourth proportional to 4, 5and 12 is-
(@ 15 (b) 12 (c) 60 (d) 21
FaTIa] dlifcihl Bl ASIAT A 875 ¢iled Ugiel Bl AT Iari, AUle Th e ugied
B AT H 4.75 &-

With the help of a conversion table, find the price of 875 liters of petrol, if the price
of one liter of petrol is Rs 4.75 -
(@)= 875 (b)= 415 ()= 4,156.25 (d)= 415.625

AT 4 IS B AT 6 AT B HA D WIGR &, 3 IR BN JeT 20 FI B IT
@ WER & AR 10 NS BT AT 16 AAG > IASR &, dl e orgd B gRT 1
Sl B HeT FAT BN, TG UF AAAT BT e H 17 & 2

If the value of 4 horses is equal to the value of 6 cows, the value of 3 cows is equal to
the value of 20 sheep and the value of 10 sheep is equal to 16 lambs, then according
to the chain rule

(@)= 340 (b)= 272 (€)= 68 (d)= 2720

I Uh SeR = 5.04 Wik, 12.6 Wi = 198 (£), ® 100 = 5.8 G5 (E), ar
% 1000 B oTde & fou Tohdel SfeR dTieU ?

If one dollar is worth 5.04 francs, 12.6 francs is worth 1 pound (£), Rs 100 is worth
5.8 pounds (£),
(@ $145 (b) $14.5 (c) $252 (d)s$135

I X &1 5% = 20 8, df X @1 A a-
If 5% of X is 20, then the value of X is-
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12.

13.

14.

185.

16.

117.

(@) 400 (b) 200 () 100 (d) 300
IiE PIg aIg 20% B BT R H 64 F JdI ofeht &, o a8 fbaar Huy &
I o B 12.5% ey B ?

If an itemis sold for Rs 64 at a loss of 20%, then for how much rupees should it be
sold to make a profit of 12.5%

(@) =100 (b)= 90 ()= 75 (d)= 8o

feft udtem & 550 IFfcarR FwET @ AR FoT IFflGAR BT 45% IRABA & I |

udem # Joo At B HA JZAT ofi-

In examination 550 candidates were successful and 45% of total candidates fail . The

total number of candidates who appeared in the examination was?

(@ 1300 (b) 1000 (c) 900 (d) 1100

fpael THT F 6% UidaY AR =TT &t X A H 500 BT [HALTT H 620 &l
ST 2

In how much time will an amount of Rs 500 become Rs 620 at the rate of simple
interest per annum of 6 years?

(@) 3 ad (b) 4 o (c) 5 ad (d) 6 adf
I & FAA &Y, dl ARV AT Bt AR Achdieg TS Bl AR A ....... gt 3 -
(@) (b) arféres () = (d) siferfsaa

If the rate is the same, then the amount of simple interest is....than the compound
interest-

(@) less (b) more (c) equal (d) uncertain

120 HAY I A TS Bl fabdl DI 20 AR B Jod B WA 1A Blal & | TP

TH BT gfaerd 2-

By selling 120 oranges, a fruit seller earns a profit equal to the price of 20 oranges.
His profit percentage is-

(@) 33% (b) 15% () 20% (d) 17%

TP SR ¥ 300 Ui fpam & a1 3R & 400 ufd fkam &t 9 7:3 & 3EguE
# fHemar 21 ff¥a a1 & & 363 ular fbam & @ F Jmar 21 uldera F I
S BN ?

A trader mixes tea of Rs 300 per kg and tea of Rs 400 per kg in the ratio of 7:3. He
sells the mixed tea at the rate of Rs 363 per kg. His profit in percentage is
(@) 20% (b) 30% (€) 10% d) 15%
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18.

19.

20.

21.

22.

23.

24.

25.

Ub SollcT Taehdl A 2% T Bl A 1% Scllell D HU H U Bl &1 Il =UR
% 76,000 ¥ T 3T 3, dl 3ADB! BA Tellell -

A broker gets 20% from the seller and 1% from the buyer as brokerage. If the deal is
fixed for Rs 76,000, then his total brokerage is-
(@ = 2280 (b)= 1520 ()= 740 (d)= 1340

UF a3g B JA AqcT, [OhT AT dF e AeT HAT: H 500 UI FH 408 &l
UG aeel BT e -
The list price, selling price and cash price of an item are Rs 500 and Rs 408

respectively. The rate of trade discount is-
(@) 10% (b) 20% (€) 15% (d) 4%

Agfa & g1 (3607)2 &1 A @RI B Afcslde a-
By the compressed method the value of (3607) is nearest to lakh-

(@ 130 &= (b) 36 @ () 131 &m=x (d) 360 @
I 3gUId B UAF TS AAG B, A A e, 3gUEd BEd B |
(@) @ 31U (b) wanfers () Ry (d) gerregura
If each term of a ratio is equal, then itis called a ratio.
(a) even ratio (b) equal (c) odd (d)  wvolume ratio
%ﬁﬁﬁaﬁammw3@m%?g,i—s,?,§
. . 7 25 35 19
Which of the following is the largest ratio? -, —, —, —
377797 2
7 25 35 19
@3 (b)— ©) ()

afe X+Y=30 3 X:Y= 3:2 a x & A -

If X+Y=30and X: Y = 3:2 then the value of x is-

(@) 30 (b) 20 (c)1s (d) 12

30 AGS it & @ 45 Rl & @ & IHha 1 M I B Saer AR FAq
25 et 3 g &= Iwa B ?

30 men can complete a piece of work in 45 days. How many more men can complete
the same work in 25 days?
(@) 24 (b) 16 (c)1s d) o

afe fmeft Jegue & sifcqs &9 ue 2, 3 U 6 B, O wIH uwT B-
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26.

217.

28.

29.

30.

31.

32.

33.

If the last three terms of a proportion are 2, 3 and 6, then the first termis-

(@) 1 (b) 2 (c)s (d)o
90 fB=AY ufer gver @ =TT o fer ufa JAdvs F TR Be-

90 Express the speed of any person per hour in metres per second-

(@) 25 FHezABUS (b) 30 FerABUS

(€) 900 HiezADBUE (d) 9000 FHiezABUS

Scelt B HJaT 8-

(a) et (b) ster () efrar (d) zrest
The currency of Italy is-

(a) yen (b) dollar (c) Lira (d) Yaka

0.216 AT -

0.216 is equal to-
(@) 21.6% (b) 0.216% (€) 2.216% (d) 0.2216%

5% BT el & TG Vb A &t BAT H 9,595 & | TADI Abel T a-

After deducting 5% commission, the price of a radio is Rs 9,595.
(@>= 10,000 (b)= 10,095 ()= 10,100 (d)= 9,150

U IHECER aPld HeT U2 AGT JadT &, Theg IABI UF Al &1 alC 750 IH
qolel BT & | IABT el bl ufererd -

A shopkeeper sells goods at cost price, but his one kilogram weight is 750 grams. His
profit percentage is-

(3) 5% (b) 33&% (c) 381 % (d) 1129

20% TAT 30% B HAGAR T B AAJET Ub dcel a-

A discount equivalent toa discount of 20% and 30% respectively is-

(@) 40% (b) 44% (C) 46% (d) 50%

UF @3g B & 4 & 670 J@T 9= dar X% &1 acer f&ar orem, af gaHa sifed e

BIaT-

An article is sold for Rs 4 and a discount of X% is given. Then its marked price is -
100% 100% 100%

(@) 100 —x (b) 1—x ) 1—(xx1,00) (d) 100% — x

36.30924 & fbder ARie JZ=md E ?

How many significant numbers are there in 36.309247

(@) 2 (b) 4 (©)s (d) 7

34. Agd faffr F 463258 x 12345 FH JA AW TH TRA B Afcsdpe forabret |
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35.

36.

37.

38.

39.

40.

Find the exact value of 463258 x 12345 to the nearest million by compressed method
(@ 5719x% 108 (b) 5719% 107 (c)5719% 10° (d) 5719% 10*

ag difeiet fOrrst U A o O agsit B Hed & g R e FHECTAT B
(a) stamuade arfersr  (b) &t arferesr () smafer anferesr (d) gerelicss atferas

The table in which prices of items from one to nine are given is called...
(a) Neorefractive table (b) Nine Table
(c) Frequency table (d) comparative table

gf 21 I 14 AT S WSR & AR 35 T 15 O B WA B, a@ 35 A
fpaer @8t @ WwEw B ?
If 21 cows are equal to 14 buffaloes and 35 buffaloes are equal to 15 horses, then 35
cows are equal to how many horses?

(@) 25=st (b) 10=nst (c) 15wt (d) 20t
I 6 3 4 AT P R 8 3R 6 AT 12 A @ WER &, a 30 ...
AdY B W -

If 6 mangoes are equal to 4 apples and 6 apples are equal to 12 oranges, then 30
mangoes are equal to.......... oranges-

(@ 20 (b) 30 (c) 50 (d) 40
220y
4

(@) 75 (b) 90 (c) 60 (d) 25

afe At eaf B 10% aTe ST A 02 q¥ B IR TSl T Thdieg Mol Bl 3T
11 3, ar eerfdr -

If the difference of a sum is Rs 11, then the amount of simple interest and compound
interest for 2 years at 10% annual rate is-

(@>= 1,200 ()= 1,100 (€)= 1,000 (d)= 1,400
foreet 3 @ier AT AL B 2
(@) @ = BT AT -fapT [T (b) e = w7 oI + o

(C)amn =TI AT - BT A (d) s 3 P13 @@l

Which of the following is correct?
(a) Profit purchase price selling price (b) profit purchase price selling price
(c) Profit Selling price Buying price (d) None of these.
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Answer Key

Q. NO. Ans Q. NO. Ans Q. NO. Ans Q. NO. Ans
1 c 11 a 21 b 31 b
2 b 12 b 22 d 32 a
3 C 13 b 23 C 33 C
4 b 14 b 24 a 34 a
5 b 15 a 25 a 35 a
6 C 16 C 26 a 36 b
7 a 17 C 27 C 37 d
8 C 18 a 28 a 38 d
9 b 19 c 29 c 39 b
10 a 20 a 30 b 40 C
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SRS A sreTEeTT va wRraor aRwg, W (3IREE)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
ATSS TRA-UT - 2024-2025
Modal Question-paper - 2024-2025

de- 01 (Set- 01)

Fat- 11 Y- sgEERs T quIT- 40
(Class-11) (Sub- Business Studies (F.M-40)
AT fAder-:
> Fe 40 WA ¢
T3t weat & 3R AT )
T w2 F forw v 3 fAuiRa 1
YA 92 F IR fAwey fu v &1 wd Reeq w1 a3 A
e 3R & foT HE 3 ¢t F1E ITCA |

>
>
>
>

ag-ﬁwd’m' 92 ( Multiple Choice Questions ) —

1. SYGHT T 36629 & (Objective of business is)-

(a) ST 3¢&rY (Profit Objective)

(b) §aT 3627 (Service Objective)

(C ) SITeT -QdT 3662 It (Profit — Service both Objective)
(d) =X TR (Tax — Evasion)

2. ST & 379Td (Business Includes)-
(a) AT ST GHAEA TohaTT 31T & (All Human Activities)
(b) ATAT Fr AT 3MTVH AT 3T & (All Human Economic Activities)
(c ) AT ST AT 3711 fohaTy 31Tt & (All Human Non- economic Activities)

(d) 378 & IS 8T (None of these)




3. FFTEr T Yol TAfHeet HEAT3HT # Tasrerd gl & T ........... $EATT & (The capital of a

company is divided into number of parts each one of which are called)-

(a)eITTer (Dividend) (b) oIt (Profit)
(c ) SIS (Interest) (d) 3721 (Share)
b = SY9R + SITIR FT TgTIH AT (= Trade +Auxiliaries of trade.)
(a) ATOI=T (Commerce) (b) SITUR (Trade)
(c) STTHTYT (Business) (d) 378 & FIS =T8T (None of these)

5. Teh B I ITATCAT ST FHTOT-UT' hisT SIRT AT &2 (Who issues the 'Certificate of
Registration’ to a firm ?)
(a) T'sg G (State Government) (b) eI TIHR (Central Government)

(c) BT &1 AT (Registrar of firms) (d) 3T & FIS =1eT (None of these)

6. TehIehT SOTIR HaAAH g 19 (Sole trading is the best when) -
(a) @3 Gail ST 3TaRTerdT 811 (Little capital is required.)

(b) 31Tereh Yait T HTGRIhAT & (Large capital is required.)
(c) Yoir & 3MaThaT wigl gl (Capital is not required.)

(d) 378 & FIS =1eT (None of these)

7. H'?Jlﬁ"?-l fgeg URAR STaHT H HEEIAT 91ed gidl & (Membership in Joint Hindu Family
Business is acquired)-

(a) 3TTdcsT & (by application) (b) ST=a7 & (by birth)
(c) S=tcd & (by friendship) (d) RAwIREr & (by recommendation)

8. Tt H A hleT § HITS WX g TAfASE TRATAIH f1e] w781 &I (Which of the following is

not governed by a specific act)-

(a) Uehol TATIHCA (Sole Proprietorship) (b) @GR (Partnership)
(c ) FY=T (Company) (d) TgpRY @fATa (Co-operative Society)



9. HYF fgwg TRAR AT HTfeld gielm & (Joint Hindu Family Business is governed by)-
() fewg 3fafaaa (Hindu Law) (b) FREerH fAfATH (Muslim Law)
(c) 3t3air fafaTe (English Law) (d) IR Gfaere (Indian Constitution)

10. Teh TTIER T $F & GeY & IR & Soaar 3aRRa g ... HEATT & (A partner

whose association with the firm is unknown to the general public is called)-

(a) GfhT ATSAEK (Active partner) (b) YT TR (Sleeping partner)
(¢ ) ATHATT ATSER (Nominal partner) (d) o AR (Secret partner)

11. FghrY FATA &1 9rafAsw 36823 § (Primary object of a co-operative society is)-
(a) o (Profit) (b) 3T e (Maximum Profit)
(c ) |aT (Service) (d) 31 & PIg 76T (None of these)

12. FFqeit &7 3e6eT [ATGSe g1aT § (The objective of a company are specified)-
(a) 9TdeR0T g@RT (By Prospectus)
o

qIYe 3edfaiaHd & GdRT (By Article of Association)
qr¥e, HATT# (Memorandum of Association)
(d) SR YRFH &1 o AT 99 & GaRT (By Certificate of Commencement)

(c

)
)
)
)

13. SATGHTAS SATWH & HRUT & (Causes of business risk are)-
(a) AIAT (Human) (b) #Hifa= (Physical)
(c) 9repfdsh (Natural) (d) I @3 (All of these)

14. ‘FFART HT SSATT [hT IRE HT STTATASD ANEH g........... ?(‘Dishonesty of Employees’

isthe ............ types of cause of business risk ?)
(a) ATET (Human) (b) IThfaeh (Natural)
(c) 31T (Economical) (d) 378 & &IS 18T (None of these)



15. qaTf8ehy 3TRIERIAT sh! AILRUTAAT (Preference shareholders have normally)-
(a) A &t T HTUHR A1 &1 & (No Voting Rights)

(b) BAT AT &1 1 HTVHR g1 & (Limited Voting Rights)

(c) quT AATT®IRR 8l & (Full Voting Rights)

(d) =78 T T3 (All of these)

16. 7Y I & Tl 39 & (For small business is suitable ) —

(a) THTS FTeT T PRIAR (Sweets preparing Business)
(b) -fAemd %93 (Readymade Garments)

(c) (a) TT (b) &=t [Both (a) and (b)]

(d) 378 & FIS =1eT (None of these)

17. §gFd fgoq IRAR & AI==0T Ud Yoty gielr & (Management and control in Joint Hindu
Family Business is)-
(a) IRAR & FTAT FH (Members of Family) (b) 9&=ae (Manager)

(c) dr (Karta) (d) 378 & FIS 18T (None of these)

18. Ueh AXHRY HaTall g &, Toleeh eIl AXhR Al Yehell Yol SHA e 8T gleil TNRT (A

government company Who settled the capital should not decreased from this percentage)-

(a) 50% (b) 51%
(c ) 40% (d) 26

19. ATSIGRY 1T Edca & 3T Hhdl ¢ (Partnership may come into existence) -
(a) Gfe=Ta# & YddisT ganT (By the Operation of the Law)

(b) el HASIA &aRT (By an Agreement)

(c) FFfT & 3R aRT (By Inheritance of Property)

(d) 3T & FIS =181 (None of these)efg



20, i UhTeh!l SITIR T faRINdT sTgr %}I (ceeees is not the feature of sole trade)
(a) 3AAT a1fifca (Unlimited Liability) (b) AT g1f&ca (Limited Liability)
(c) IMIARICT (Secrecy) (d) 378 & T (All of these)

21. “AIEH & Al cTaa@ra ¢ 6d AR 1Y {1 §” I Y had i § |

(“Business like weather is with us everyday.” Who said this out of the following-
(a) g7 (Haney) (b) AT (Marshal)

(c) STeelErT (Batliboi) (d) gdTer (Wheeler)

22. fAFifafa # @ o AR & Tgrreh T Aol H gefichc =gt foham ST Fehel (Which of

the following cannot be classified as an auxiliary to trade)-

(a) GeleT (Mining) (b) &TAT (Insurance)

(c ) HSRUT (Warehousing) (d) IraTAT (Transport)

23. 9T¥¢ e {e1H & 31T 7 R 8l & (In the absence of Articles of Association applies):
(a) ATfeieI-% (Table-F) (b) aTfeiepr-§ (Table-B)
(c) drfersRT-H(Table-C) (d) arferepr-g (Table-D)

24. OghRI AfATa & Teeal &1 arffcd gidT & (Liability of members of co-operative society
is)

(a) AT (Limited) (b) 3ATAT (Unlimited)
(c) 313 &TiiIcd =Tar (No Liability) (d) 378 & FIS 18T (None of these)

25. TSI 39sha & 37heTuT ST § (In a private enterprise audit is) -
(a) 31fAarT (Compulsory) (b) ¥ (Optional)
(c) 3ATa2TH (Unnecessary) (d) 378 & F1S 18T (None of these)

26. {RA H 3Teh Jar3iT T JTLFE 31T AT (Postal services started in India in )—
(a) 1737 (b) 1747
(c) 1837 (d) 1937



27. SATAATh HITSeT T hiol-AT ITET TaH 378 TATAT §2 (Which is the most stable form
of business organisation?)
(a) Tehol TATTHCT (Sole Proprietorship)

(b) T@TEIGRY (Partnership)
(c) TgeF Yt aTell &heTeit (Joint Stock Company)
(d) gFd g IRAR FaarT (Joint Hindu Family

)
)
)
)

28. TTasifeleh &1 &l ghrsal A fATAAY & drcad § (Disinvestments of PSE's implies)-

(a) TAsi/arastfaes &1 st FadT 3711 $r f¥shT (Sale of equity shares to private/public sector)
(b) IRETeTAT @l Sog, =T (Closing down operations)

(c) 57T &1aT H T2 =T (Investing in new areas)

(d) TSI &1 Fr sawrsaT & 37T A WleaT (Buying shares PSE's)

29. TaSATareh &1F & 3Yehd d IS & Totedant Ea1fAcg......... T &(PSE's are organisations
owned by )-

(a) §FF Tgeg IRAR (Joint Hindu family)
(b) IR (Government)

(c) facelr #afrar (Foreign Companies)
(d) TSl 3¢THT (Private entrepreneurs)

30. 3USUT T 39T &I & (Indent is used ) —
(a) ¢2ff SR A (In Inland Trade)
(b) fae2l =R # (In Foreign Trade)
(c) c2ff T facely IR gl=it # (In Inland and Foreign Trade both)

(d) 37 & FIS 18T (None of these)

31. Hed & 3AR-UG &l T dfead ST & (Price fluctuations are controlled by )-
(a) Ul TIRY (Wholesaler) (b) Pt SATIRT (Retailer)
(c) fATaT (Manufacturer) (d) 378 & FIS 18T (None of these)



32. STe 3TaTd, T T Jefelt & T8 19T & SATIR Hecelsl (When import exceeds the
export than balance of trade will be)—

(a) 37s]%eT G191 (Favourable) (b) 9fcieher 81T (Infavourable)
(c) ATHATT 19T (Normal) (d) 8T8 & FIS =T8T (None of these)

33. fArTofd geif 7 & fohaa sl $7USRT &7 ST 31 (In whichot

the following countries departmental stores origi

(a) WI=d (France) (b) §3eiU8 (England)

(c) 3TATHT (America) (d) 378 & FIS =T8T (None of these)
34. YT T ATATTSTH 3AIGIRIcT & (Social responsibility of business is)-

(a) Tafaraiaran3it & 9fad (Towards Investors)

(b) eTaaT & 9fd (Towards Business)

)
(c) THET & fd (Towards Community)
(d) T8fr & 9fd (Towards all )

35. 3-HAY A TAYT & (E-commerce means)—
(a) SoNfaTRer s1AX (Engineering Commerce)

)
(b) SHIAITAFH HIAY (Economics Commerce)
)
)

(c) SoIFeITeeh IFA (Electronic Commerce)

(d) 317 & T (All of these)

36. Teh odIel STAHI T FUTTAT o Jd HaH AgeaquT [aarofi s g(The main

preliminary consideration before the establishment of a new business is)-
(a) TR & fAHROT (Determining the Size)

(b) it & ATAT (Amount of Capital)

)
(c) sTadrT T geA1d (Selection of Business)
)

(d) 35737 & T (All of these)



37. STHAT &1 He3d 3663F 8l & (Primary object of insurance is)-
(a) ST AT (Profit earning) (b) &Tfaqfet (Indemnity)
(c) A== (Investment) (d) 3URTeFd F SIS =T8T (None of the above)

38.87USRAE 3TN T Folel T & (Warehouse creates utility)-
(a) T 3GAIAT (Place Utility)

(b) AT IGWTIACT (Time Utility)

(c) ®9 39T (Form Utility)

(d) @ar 39T (Service Ultility)

39. SITST o161 &af dTell WIdT & (The amount on which interest not allowed is)-
(a) ITe] @IAT (Current Account)
(b) ST @rdr (Saving Account)
(c) TJTAY STAT WrdT (Fixed Deposit Account)
)

(d) B FiTeTeh WIdT (Home Safe Account)

40. FFYT TTHDT ST Teh ST F 37T H thell &, Fgalldl & (Company whose business
links are expanded in more than one country is)-

(a) agTer@'éT HFIAT (Multinational Company)
(b) T2l FeTsiT (Foreign Company)

(c) TSET &HFqair (National Company)

(d) FUTATT &FY=IT (Local Company)
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9g-famed i o4 ( Multiple Choice Questions ) -

1. ST (An entrepreneur is):
(a) S¥HeIAT & (Born)
(b) ST ST & (Made)
(C) ST=H <TdT & UG §+T1-IT STl & ST (Born and made both)
(d) 3 F PIS & (None of these)
2. YR ¥ AT BT AT & (The future of entrepreneurship in India is):
IFYBR H (In dark)
(Bright)
HISASH (In difficulty)
ST Y PIS 78T (None of these)

(a
(b) ISSTdeT
(c
(d

—_ = = =

3. 3aR Afedr 7 Afrafera T8t fbar Sar (Code of conduct does not include):
(a) 79 (Rules)

(b) ST (Dishonesty)

(c) FIST (Integrity)

(d) SBaT (Morality)

4. ITHT Y TR § (Characteristics of an entrepreneur):
(a) SRgT F&-Tadf (Risk Bearer)

(b) AT IUHH T TATUAT (Establishes new understandings)
(c) ATe UG &+ a1l (Provider of resources)

(d) SR T (All of the above)

5. R ST [IbTT Heer= f%?«lﬁ“a*(Entrepreneurial Development Institute of India is situated in):
(a) 3T89SMEIE #H (Ahmadabad)

(b) T79% 7 (Mumbeai)

(c) 7TE f&eett 7 (New Delhi)

(d) T3 ¥ (Chennai)

6. ST fhaeh GRT 3IMERT &Il &, (Entrepreneurship is ensured by):



a (Subsidiaries)

(a) GED
(b) ESIDHR T (Larger Firm)
(c) HETH B+ (Medium Firm)
(d) T HH (Small Firm)

7. Ffl'gG?ﬂ"T v & (Small industry is the subject of)-
(a) T TRER BT (Local Government)

(b) =< EDHR BT (Central Government)

(c) ISY TRDPR BT (State Government)

(d) 37 Tt BT (All of these)

8. 3Mfefa fohad =......(Economic activities=...................... )

(a) STIART + Y2IT (Business + Profession)

(b) TaEg=™T + AR (Business + Employment)

(c) T AISTIR (Profession + Employment)

(d) STIER+ YT+ USTTR (Business + Profession +Employment)

9. Jert HchLi\UT NG el & (Entrepreneur plays an important role):
(a) ST T ¥ (In political development)

(b) AT RT3 (In social development)

(c) 3T a7 (In economic development)

(d) T 37 fo5=dY 3 €T (None of these.)

10. U TGRS forg & Gofianvur faat 31afer &1 8T 2 (The registration of a trademark shall be for a period of):
(a) 3 a9 (3 years)

(b) 6 @ (6 years)
(c) 7 ¥ (7 years )
(d) 9 @ (9 years)

11. INTR BT HfoRUS D femor 71 3 3 fra-fosT 31 fdsam ST awetT & 2 (By which of the following the study of
competitive analysis of market can be done?)

(a) Jod  DH! Ud TureRiT ¥ & (Decrease in Price and

Increase in Quality)

(b) ST Tfehar &t e (Cost of the Process of Production)

(c) FFR=aR Y (Continuous Research)
d) IRIH Tt (All of the above)

12. ‘GHARAT BT ST {hvT TRE BT ATARATRID TIRIT & (‘Dishonesty of Employees’is the .......... type of cause of
business risk.)_

(a) FE™T (Human)

(b) QTEEﬁ'cF (Natural)

(c) 3Trf§ﬁ'cﬁ (Economic)

(d) IR Al (Govt. Palicies)

13. fauoH R 7 fovar T g9 & (Money spent on marketing is) :
(a) SEf&T (Wastage)
(b) 3TFTRID I (Unnecessary Expenditure)



()T &P IR YR (Burden on the Customers)
(d) CIERINES (Investment)

14.5¢ve Jfefae fbd af § TR g3MT? (Patent Act came into force in the year)-
(a) 1970

(b) 1972
(c) 1975
(d) 1973

15, IR IR .......... SRl BT AR BT & (Produce market deals in.......)-
(a) P (Agriculture)

(b) AFT-AIE (Gold-silver)

(c) ATUTST® (Commercial)

(d) SRIH ¥ F PIS T8 (None of the Above)

16. T 3 A B3 37 fImRT Y fRIwar & (Which of the

following is a characteristic of Economic Development)?

(a) FR=TR Ufh3T (Continuous process)

(b) 3T et T S foRE (Proper utilisation of means of production)
(c) ST TR IR (Improvement in standard of living)

(d) SR T (All of the above)

17. ... 37&@?41?:@%”'\’ ST &7 A Sud=o &l (According to........ "Innovation is specific instrument of
Entrepreneurship”.)

(a) ST T. gFTeR (Joseph A. Schumpeter)

(b) PRIE Ped (Forest Frantz)

(c) Yiex U, SN (Peter F. Drucker)

(d) SR ¥ F BIS T8I (None of the above)

18. fauuH &g R & (Marketing expenditure is a burden) :
(a) JET R (On Industry)

(b) AR W (On Businessmen

(c) GE{"fEHGﬁ'W( On Consumers)

(d) ST 1 It TR (Al of these)

19. ARG et B aIRAIT {5 ST & (Motivated employees are rewarded):
(a) BUMHD (negative)

(b) g-TTcHh (positive)

(c) IR (intrinsic)

(d) 3T I BIS &I (none of these)

20. 71 ¥ { -1 oTE FET T FHRT el 82 (Which of the following is not a problem of small industries?):
(a) 3TITH fa=T (Inadequate finance)

(b) URIfare et &t srma (Lack of trained persons)

(c ) QT HTEAfiehT (Old technology)

(d) ST 71T (Local demand)

21. YR ¥ oTg] FENT T USTIE BT & (In India registration of small industries is)-



(a) wd (Voluntary)

(b) 3TTRID (Necessary)

(c) 3TERT (Compulsory)

(d) T I DI & (None of these)

22. SR ... 3T UROIH & (Risk is the resultof ............. )-
(a) FT3AAT (Certainties)

(b) KIRIEREI (Uncertainties)

(c) STRIh SHT (Both the above)

(d) T I PIS & (None of above)

23. JMALIE- FTAHHAT [TaRYRT & Uiided & (Need Hierarchy Theory was propounded by):
(a) fsTEH HRAT (Abraham Maslow)

(b) Th. S&c]. T (F.W. Taylor)

(c) TeTthe 19T (Alfred Marshall)

(d) & RaveT (Henry Fayol)

24. AT f[AHRT HRIGH T TS BT ST & (EDP should be
organised generally by):

(a)4 AHTE 3rafer (4 weeks duration)

(b) 6 HHTE 37AfT (6 weeks duration)

(c) 8 THTE 3TAfT (8 weeks duration)

(d) SR ¥ F BIS T8I (None of the above)

25, "I IR T GoITH D fopam & I8 P fda &7 (“Basically entrepreneurship is a creative activity." Who
said this?)

(a) %fﬂ?? (Schumpeter)

(b) YR $HX (Peter Drucker)

(c) BNAfeTST (Hoselitz)

(d) SR ¥ JBIS T8I (None of the above)

26. RIS 1T & (Planning is)-

(a) TP T (Short-term)

(b) TEIBIE T (Middle-term)

(c) EEHIE (Long-term)

(d) St 3rafera & 1T (For all term)

27. IcASEHT BT DRI & (Function of leadership/entrepreneur is )—
(a) SRFT T (Risk taking)

(b) i @M T (Decision-making)

(c) TR fRIST (Business Planning)

(d) T &4t (All these)

28. R & qDHRT &I FAT BT FATI Fed & (Solution of unemployment problem of India lies in)-
(a) PR J&N  (Cottage industries)
(b) 9 JEFN ¥ (Large industries)



(c) T AT H (Small industries)
(d) T A PIS & (None of these)

29 ¥ I I fadraT a-fFmfor Y &2 (Which of the following is the attribute of an innovator?)
(a) 31T fOTfareT (More Qualified)

(b) IT° THTRTH TR (High social status)

(c) 3T TTaRTett (More influential)

(d) SR T (All of the above)

30. SIFPRT ATEHT & FErRoT BT YR 89T A2y (Motivational means should be determined on the basis of):
(a) EFfe® (group)

(b) SRR (Individualism)

(c) PH (job)

(d) IRIh Tt (all the above)

31.T% 38! AT 81 & (A good plan is)-
(a) Gdfet! (expensive)

(b) T TG (time consuming)

(c) ATy (flexible)

(d) HRTT (rigid)

32. RA H gef foaT ST & (In India stress is given on):
(a) TfRTeTor g U IR (On training centre training)
(b) BI-TAT RILTT T (On the job training)

(c) DRF &F FTER WIS R (Off the job training)

(d) SWRIB T (All of the above)

33. ST A D97 SfaT PRI &2 (Which of the following is non-financial motivation?)
(a) Ia (Salary)

(b) ST (Bonus)

(c) B (Commission)

(d) 1 T =& (Job Security)

34. ICICI RTfUq fhaT /T (ICICI was set up as):
(a) T ST 87 (a private sector)

(b) U@ A1 & (a public sector)

(c) TP Agh & (a joint sector)

(d) ST FPIS TE (none of these)

35. 171 i ¥ BH-3 qarfarofier rem EF & 2 (Which of the following
is not an environmental barrier ?)

(a) SIFIRTE (Social)

(b) 3TRI® (Economic)

(c) STRTRIT ( Motivation)

(d) IR (Political)

36. HAR kAT & (Communication is a process)



(a) TUh-ATTT (Single way)

(b) &R (two-way)

(c) A-arffa (Three way)

(d) $7% @IS &I (None of these)

37. AT SATER W FISTR BT e AT ST Feball &, IRT (On Geographical basis, market may be classified as)
(a) TJIFRT TR (Local Market)

(b) IR SR (Provincial Market)

(c) WWW@U IR (National and International Market)

(d) SWRIB T (All of the above)

38. SHIFIAT Yeve T ST &, & (Utility patent is granted for ) :
(a) 17 ¥ (17 years)
(b) 21 &Y (21 years)
(c) 18 & (18 years)
(d) 23 IY (23 years)

39. ST farT HRIHT BT AR, BT fABRIT BT & (EDP is meant for developing)-
() <afhTeT TG (Personal Skill)

(b) SEfcr RO (Entrepreneurial motive)

(c ) SR 0T (Personal qualities)

(d) 3T T2raroT (Unique training)

40. 777 ¥ Y HH-AT TfteT Saffy 6t fRar §2 (Which of the
following is the characteristics of women entrepreneur?)

(a) SRGT g & Ud $T8T (Ability and desire to take risk)
(b) PSR URSH BT TERT (Attribute to work hard)

(c) Ut afh (Imagination)

(d) SWRIH T (All of the above)
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TS e S 07 IS B & | $9 hIRTCAT shl HAE § ATk hio" TRRLTTAT T HIHAT L Fohdll &
S 379 ALAT ! TTH h TohdT © | ISRV o oAU, IS forel) safeh ohl 0T Yo" a1 37<3T JH 7,
AN T AT ITATHRATSAT h! T Aok | TF L FohdlT & ST HT THI T G HL ohall © | 36T THR,
TG Jeie Safth 1 AHeh 3T RN ST S-1T W@ § Hee ohidT © | 38y, Siie shisred 7
shacl S ThITd foehte o foTT sifces grATiSien 37T URTeR gherdT o foru oft ofrerwres 2 |

1. TTEITST 3 TR, S RIS H HIA-AT 707 A T 82
(A) G-I (B) 99T YaIgq
(C) T Jier (D) 99 &=

2. OUT ST FHT ATH FT 2

(A) R THT TG FHIAT (B) TS SIGHT
(C) i uftikafaat & s (D) ORI W T &
3. TS TSR T UGT 3599 T 87
(A) AT TR AT TTEeT ST TeqT (B) Teheiteh! Sm1STet farshfera shiAT
(C) 3TTTes AT ITH AT (D) TR THT TG HAT

4. TTEITYT o STTAR, S HITTCT HT Heedl Tt 82

(A) FHaA HFfrTd fashma & fow (B) Shaet AT T o oI

(C) SafhTa, TR 3R U TheAdT & il (D) dehdieh! I sIgH o oy

FreaferRaa wartsr Rt sargees age fou Te wat o forg wdt s s et -

"HIAT ST Gt 37, e S e A B,
TEIT 3T YT, ST H R H ¢ |
SUFERT T T SIS, T ohT T ST,
U o @ H HEWT 5, AT hl o fwre |



&, WIRSITAT SR SH &, ST S gatan,
W 07 AR &, Sta g quiaH |

5. WErTeTH Wit Ui F & R et et s S T 82

(A) T S g7 (B) I 3R 31Rh
(C) 7RI I A8 (D) & 3T g
6. FUTIERY i feoherd ToTaT Y TS 87
(A) [ (B) &
(C) =z (D) Tt
7. UEITITh STEN, WHIAAT T o7 9T o 70 a/m st wfge?
(A) T8 o g@ H TeTt s (B) “heret 319 g@ #ht ferelt i
(C) & T E=T AT (D) Tk T 9&31 HEAT
8. ST Y Ha¥ T o forw foRm T7utt st oruATe S ara A TSR
(A) ST, TN 3T ITEHT (B) &MHT, ST SR 3w
(C) $91, Tfereqef R 7g (D) I, Tk 3R TEHR
Que - W
( erfirsater ofiR wreaw )
9. farferer vt dam <t yroaTd wa g8 ot 2
(A)1957 (B)1959
(€) 1975 (D)1936

10. TETIST STHHER hT HIT TT HIEIT B 2
(A) T - T T (B) 3 HrEAH

(C) 2T HTegH (D) TT9 & IS Tl
11. FraferRaa o & \vrer Wifgam @ segrur T E 2



(A) eharm (B) SH

(C) Feemm (D) F &t
12. wrdra fomn o1 fuamag forar s wmat € 2
(A) TSI T (B) TTET | Hleeh
(C) q2first g (D) I =Y
13. THTER oIEH st FIeft o hgeTet § 2
(A) herTeHsh Jeft (B) St fuaifirg fedt
(C) =EITeweh St (D) FsaTe Sreft
14, HoIR 9158 <t Seufer R emg A g ¥ 2
(A) = (B) IR
(C) &= (D) | =T

15. IRA T TEAT BTATETT el Gt 2
(A) T (B) feret
(C) UeT (D) STTeTeR
16. HISAeh o ATAR T<9T H IR HIF AT § ?

(A) T8 (B) €=ITCh
(C) feremeeh (D) TR
17. T 5w ToRE <Rt 39T & AT Hehd © TATA & AT 39 TR T TR HEATET
(A) Hiflgeh E=r (B) Hichfsh €9
(C) eiflgeh T=I (D) 315 & |+t
18. forEr™ whET & - « TOR SgwEt <y ETREw ® 1
(A) foresrt 2 (B) 31E]

(C) ierm (D) T Ut



oS -
(TSI )
FraferRam Teriwr et saUEsE ugeRt U e want 3 foru At ST R e W -

U T HEgfg T8 81 AT 7 | o187 g1 ST o U e =iiet T o +ft 36 TR 1 veTer A
TEI BT AT AT | eI o qHT S HIEHTS o I6Y e TRTST YA i el dret |Gl ek qged-
TEed I Th ASE@ST T AT | Wik 36 SR ATt etk fig 3 3o e §T oI o1 ST i i
SIS SIS o1 =ITeleh TRTT &1 off, T4 fGwT & QT ST ¥R & ¥ forei &1 a19 shal R 302’ 379 3T §
91T B8 SUGAT TRt 384 Y9UH I G- A A o 1T geher & off | forare &A1 fomm o1 9
ST AT | 0 o U shi T off | S gTeF-UT <Ief Srieh gAT €1 o foh & 3 34 ikt
e AT | AT o T § AT & B 13T 3T T -t gt & <ient o =i o foram
Tor@m T | ek g & ot Tof STet ATeex Bt g 36 7O+ THE T od I o B2 & od o T8l

T $EhT A T hLd o R S Hl TTed] B W B, ofd, 8edT St ol 819 T Sar 3¢ |

I TG 3 34 | T o TR ST=Teh ot 94 A1 990 A Hest WTa ¥ Ieh fored T off 37
TSI o T ATl i ATE el T&T o Shal TATRIH ok STTH T GRIT HT HTH g ol o |
19. srega Terrer fohe ure & foram e 7 2
(A) TH T TRATT (B) 3T @1 €TE A1
(C) T et (D) ST 178

20. EAXTH <hT AT ST UBTST AT ATE T2 &1 aTan?

A) g YT | & T2 Taat o (B) &I HES[E T AT S ok R
RIEEHEIRIEI]
(C) urEet et T = 38 forama =t (D) &R Rl 0T Sh{gT T ot

21. TTEYT H “fET T ara” 9 T ared 82
(A) Trear ST HEe (B) UGTS T HiaTs



(C) I ITH A T FIH (D) foram =t udteq
22. TR o feq & a1 e ¥ o fema?

(A) 9GTS ST &t (B) fora o ferrera dwrer oft
(C) Tia BIg faan (D) TTEex e fiie o wag wirft

FreateRaa wai o aft foekew w1 =raw fif -

23. 9k Tt o ferdr e <hr Atendt fuet 2

(A) FAAET T (B) a3fier &1
(C) sy féiw b1 (D) ETTEH 1
24, SrReeRt frart TEiEd o ura fera 2fma & g oft 2
(A) TTehT T &b & (B) FHATHR o1 2Rmra &
(C) Hueeh 1 2ftraa & (D) Feiersr i Rfema &
25. 319 ShY | T AT 7TH T 2
(A) ST (B) SRIT
(C) TS (D) freeht
26. TaraTE EHTHUT UTS S 1Eeh AT T ATH &2
(A) TR St (B) T HieTciT
(C) =g (D) SNEEHS TH

27. SFa ot Fow H oot forawr e ey a2
(A) 70 (B) 72
(C) 74 (D) 76
28. T o U ol Ashe WU o @I H fehE ervmmar o ?
(A) THERT & TermEst (B) YA & TerH=T



(C) i o Jermst (D) T8 ¥ IS Tl

29. AT TRISTeRT 3 T <h fersrea = 82
(A) TG FolT (B) T ST
(C) T ar (D) T4 ¥ %15 T8l
30. TTEATT | T WG FATAT FAT HEATAT 82
(A) =ISIRT (B) TS
(C) TSI (D) ==t
31. I&t ETASR o feher ot 2
(A)ar (B)
(C) 9 (D) T

et ueriyr st sagEe TgeRt f3u Te Tt o foTe |t ST ST aaT ot -
T A e ToTe, 6l 9
ST 3% R BR-gehe, WY ufd @
i T2t het T FIH, FeT HRE HIE?
it er i, S e
31 T Sifet BieT il 30wt BT
32. UErioT ¥ RReR wrater @ fordr wafire feram T ¥2

(A) WTaH = (B) STTE e

(C) W I (D) HTa forsop



33. W 7 “TheT T w1 T BIg 42
(A) g=-guf & fag (B) HTE 30T ShT Ak o folq
(C) T9TSI & & | (D) Ah-AATS s o foTg
34, «Ha fem afs-afs, ee-ore @t w1 o1 & 22
(A) Tt Y ETId T e HRT 3 THTST 3h1 9LaTE el bt
(B) HdT o T & SHAM ot
(C) T 7 Tt st |Tfd B &
(D) ¥R 3 THTST Sl U@ uTS
35. WY 7 foheh STeT &/ “Ym-aAfer Fri?

(A) TSI (B) 3G (JAGA) o Sfet

(C) TuET % ST (D) itk 3 it
FraferRae went o w@ faerew @1 == hifsro -

36. HeSTE hiT AT HITLURT ok kil A?

(A) T itk FHTTERT (B) ST SHTeALRT

(C) 0T ek SHTALTT (D) JaTT she ey
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAMINATION

Session :2024-2025
MODEL QUESTION PAPER

CLASS-XI SUBJECT-English Core | TIME- 1 HOUR FM -40

GENERAL INSTRUCTIONS:
e Total number of questions is 40.
Each question carries 1 mark.
Four options are given.
Students are expected to select the most appropriate answer.
All the questions are compulsory.
No marks will be deducted for wrong answer.

Read the following passage carefully and answer question nos. 1-5.

The Amazon Rainforest, often referred to as the "lungs of the Earth,” is one of the largest and most
biodiverse ecosystems in the world. Spanning across nine countries in South America, it covers an area
of approximately 5.5 million square kilometers, making it the largest rainforest on the planet. This vast
forest is home to an incredible variety of wildlife, including jaguars, sloths, and more than 400 billion
trees. The Amazon plays a vital role in regulating the Earth’'s climate, absorbing carbon dioxide and
producing oxygen, which helps mitigate the effects of global warming. The forest also regulates rainfall
patterns, contributing to the water cycle and providing essential resources for agriculture and freshwater.
However, the Amazon faces significant threats, mainly due to human activities such as deforestation,
illegal logging, and mining. As large areas are cleared for farming and cattle ranching, not only is
biodiversity threatened, but the forest’s ability to absorb carbon dioxide is weakened, accelerating
climate change. Conservation efforts are crucial in protecting this delicate ecosystem. If deforestation
continues at the current rate, the Amazon could reach a tipping point, where it may no longer be able to
sustain its vital role in the global environment. Protecting the Amazon is not just about saving trees—it's
about safeguarding the future of the planet.

1. What is the primary role of the Amazon Rainforest in regulating the Earth's climate?
A) It helps maintain the global water cycle

B) It absorbs carbon dioxide and produces oxygen

C) It regulates rainfall patterns globally

D) It prevents the occurrence of wildfires

2. Which of the following is NOT mentioned as a threat to the Amazon Rainforest?
A) lllegal logging

B) Mining

C) Overpopulation of wildlife

D) Deforestation for farming and cattle ranching

3. How much area does the Amazon Rainforest cover?

A) 2.5 million square kilometers

B) 3.5 million square kilometers

C) 5.5 million square kilometers

D) 7 million square kilometers

4. What is a consequence of deforestation in the Amazon?

A) It helps to maintain the water cycle



B) It strengthens the forest’s ability to absorb carbon dioxide

C) It weakens the forest’s ability to absorb carbon dioxide

D) It increases the number of species in the ecosystem

5. Why is it important to protect the Amazon Rainforest?

A) To prevent the growth of illegal industries

B) To maintain biodiversity and combat climate change

C) To help local farmers grow crops more easily

D) To preserve the Amazon's indigenous populations

6. What is the primary advantage of using abbreviations in note-making?
A) It helps to make the notes longer

B) It reduces the time taken to write the notes

C) It increases the complexity of the notes

D) It makes the notes harder to understand

7. When writing a summary, which of the following should be avoided?
A) Using your own words

B) Paraphrasing the original content

C) Including unnecessary details

D) Writing concisely

Read the following lines from a poem carefully and answer question nos. 8-10
"The laburnum top is blooming, its tassels Yellow, and its long small branches Softly swaying.
The bird's voice is heard In the hollow of the tree, singing its song.

At the same time, the laburnum’s golden glow Fills the air, and in its shade,
the bird Sings its golden tune to the wind’s breeze."

8. What is the primary image described in the poem "The Laburnum Top™?
A) A golden oriole flying above the tree

B) The laburnum tree blooming with yellow flowers

C) The wind blowing through the branches

D) A quiet, still garden at sunset

9. What effect does the bird have on the laburnum tree in the poem?

A) It makes the tree sway violently

B) It adds life to the stillness of the tree

C) It disturbs the calm of the garden

D) It brings rain to the tree

10. What word in the poem suggests the soft movement of the tree?

A) Hollow

B) Swaying

C) Glow

D) Breeze

11. What is the relationship between the rain and the earth as described in the poem ‘The voice of the
Rain’?

A) The rain punishes the earth

B) The rain provides life to the earth

C) The rain ignores the earth

D) The rain destroys the earth

12. How does the poet feel about the loss of childhood?

A) He regrets losing the innocence of childhood

B) He believes that adulthood is better than childhood



C) He is indifferent to the loss of childhood

D) He is angry about growing up

13. What does the poem "Father to Son" highlight about family relationships?

A) The beauty of unconditional love

B) The conflict that can arise from generational differences

C) The importance of maintaining traditions in the family

D) The happiness that comes from father-son bonding

14. What event led to the emotional separation between the narrator and his grandmother?
A) The grandmother's illness and death

B) The narrator’s departure for foreign studies

C) The marriage of the narrator

D) The narrator's new job in the city

15. Who are the main characters in the story "We're Not Afraid to Die... If We Can All Be Together™?
A) A family of sailors

B) Two young boys and their parents

C) A group of explorers

D) A ship’s crew

16. How old was King Tutankhamun when he became Pharaoh?

A) 10 years old

B) 14 years old

C) 9 years old

D) 18 years old

17. What is the central theme of "The Ailing Planet: The Green Movement's Role"?
A) The history of global warming

B) The importance of biodiversity

C) The environmental degradation and the role of the Green Movement in saving the planet
D) The role of government in environmental policies

18. From where was professor Gaitonde travelling to?

From Pune to Bombay

From Pune to Delhi

From Bombay to Pune

No where

19. What is meant by kora?

Monastery

Temple

Circumambulation

Mountain

20. What mystery surrounding King Tut’s death is still discussed in "Discovering Tut: The Saga
Continues'?

A) His sudden death at a young age

B) Whether he was poisoned by his enemies

C) The possible involvement of his advisors or family members in his death

D) The exact cause of his death, which remains unclear despite investigations

21. Who are the main characters in *The Summer of the Beautiful White Horse"?
A) John and Jack

B) Aramand Mourad

C) Bill and Sam

D) Michael and David



22. What does the story "The Address™ explore about post-war trauma?

A) The process of rebuilding one’s life after losing everything.

B) The emotional weight of returning to a home filled with painful memories.
C) The difficulty of reconnecting with loved ones after the war.

D) The joy of rediscovering lost treasures from the past.

23. What literary device is frequently used in "Mother's Day" to add humor to the story?
A) lrony

B) Foreshadowing

C) Metaphor

D) Allusion

24. Who is the central figure of "The Ghat of the Only World"?

A) Amitav Ghosh

B) Imtiaz Ahmad

C) The city of Calcutta

D) The author’s family

25. What moral dilemma does Dr. Andrew face in "Birth"?

A) Whether to tell the mother the truth about the baby’s condition

B) Whether to intervene with modern medical procedures or let nature take its course
C) Whether to charge the family for medical services or offer them for free
D) Whether to perform surgery or wait for the condition to improve on its own
26. How does the poem "The Tale of the Melon City" reflect on the nature of justice?
A) It suggests that justice is always fair and unbiased.

B) It portrays justice as being heavily influenced by logic and reason.

C) It highlights how justice can be arbitrary and influenced by trivial factors.
D) It portrays justice as being completely under the control of the king.

27. In note-making, what does 'key points' refer to?

A) Personal opinion on the subject

B) Main ideas and supporting details

C) Direct quotes from the text

D) A summary of the whole chapter

28. Which of the following should be avoided while writing a summary?

A) Using your own words

B) Including unnecessary details

C) Focusing on the main ideas

D) Keeping the summary brief

29. Which of these is an appropriate closing for a formal letter?

A) Love, [Your Name]

B) Best Wishes, [Your Name]

C) Yours faithfully, [Your Name]

D) Take Care, [Your Name]

30. Which of these should be the focus in a note-making exercise?

A) Writing complete sentences

B) Paraphrasing the entire text

C) Identifying and writing down essential information

D) Writing a conclusion



31. Which of the following is a correct way to organize notes?

A) Randomly writing down information

B) Using headings, subheadings, and bullet points

C) Including only personal opinions

D) Writing a detailed analysis of every point

32. What is the primary objective of note-making in academic settings?
A) To write out every single word from a lecture

B) To organize and remember key points for future use

C) To produce a detailed analysis of a subject

D) To summarize the textbook word-for-word

33. When writing a letter to a government official, which format should be followed?
A) Informal letter format

B) Business letter format

C) Invitation letter format

D) Personal letter format

34. Which of these is the most important feature of a good note?

A) Neatness

B) Length

C) Clarity and brevity

D) Colorful and decorative

35. Which of the following sentences is in reported speech?

A) She said, "I am busy."

B) She says, "I am busy."

C) She told me that she was busy.

D) She says that she is busy.

36. Choose the correct indirect speech transformation:

Direct Speech: "I can't find my keys," he said.

A) He said that he can't find his keys.

B) He said that he could not find his keys.

C) He said that he will not find his keys.

D) He said that he couldn't find my keys.

37. Choose the correct determiner: ™ students passed the exam."
A) A few

B) Some

C) Much

D) Few

38. Which of the following determiners is used with plural countable nouns?
A) Much

B) Many

C) Little

D) Any

39. Choose the correct determiner: "There is water in the glass."
A) some

B) any



C) many

D) few

40. Which of the following sentences contains an incorrect use of a determiner?
A) She is the tallest girl in the class.

B) He wants a advice on his career.

C) There is anapple on the table.

D) I don't have any money left.



Answer Key:

1.B) It absorbs carbon dioxide and produces oxygen

2.C) Overpopulation of wildlife

3.C) 5.5 million square kilometers

4.C) It weakens the forest’s ability to absorb carbon dioxide

5.B) To maintain biodiversity and combat climate change

6. B) It reduces the time taken to write the notes

7. C) Including unnecessary details

8.B) The laburnum tree blooming with yellow flowers

9. B) It adds life to the stillness of the tree

10.B) Swaying

11. B) The rain provides life to the earth

12. A) He regrets losing the innocence of childhood.

13. B) The conflict that can arise from generational differences

14. B) The narrator’s departure for foreign studies

15. B) Two young boys and their parents

16. C) 9 yearsold

17. C) The environmental degradation and the role of the Green Movement in saving the planet
18. A) From Pune to Bombay

19.C) Circumambulation

20. D) The exact cause of his death, which remains unclear despite investigations
21. B) Aramand Mourad

22.B) The emotional weight of returning to a home filled with painful memories.
23 A) Irony

24. B) Imtiaz Ahmad

25. B) Whether to intervene with modern medical procedures or let nature take its course
26. C) It highlights how justice can be arbitrary and influenced by trivial factors.
27. B) Main ideas and supporting details

28. B) Including unnecessary details

29. C) Yours faithfully, [Your Name]

30. C) Identifying and writing down essential information

31. B) Using headings, subheadings, and bullet points

32. B) To organize and remember key points for future use

33. B) Business letter format

34. C) Clarity and brevity

35. C) She told me that she was busy.

36. B) He said that he could not find his keys.

37. A) Afew

38. B) Many

39. A) some

40. B) He wants a advice on his career.



SIR¥AUS ASID 3iol¥otilol Gd Ufdrgior ufyeg, il

®el- upIcoft  arftydht udiem 2024-25

AMRA:- 18T MGG

(@gfamcdian: ussr:)

APIIGATOIGIT: -

fererT:- Jvpaa

QuiicoT:- 40

o 3R] UGIUA! Araiord (40) USGIE| (S U%I-UAT 31 40 Ul 3l)

o d Ut iforarit:| (it Ut siforart 31)

o  URID-USIE Tplssdl foreilRen:| (Ued Ul & fere v 3 forerilRe )
*  UAD-U%RA AcdR] f[ddcur| Siiafdmed Riold | (UId U9l & ar fddey e s1e 31 3fca

fdabca ol aRIc B3)

o Joffcdr Rl DISMU SIPRIFADISDI ol dl (3IcTd IR P IC18 DI SIDPRICAD 3iD old! 3l)
(VS D)
afdd-radieiors]

forgor:-srenferRac srerioi ufdedr ussirold ITR101 famcs=r: forcar fereaa-

izt oluefleral¥a braeauLg fdonciorl Fsimiod 3Rl st [Uar dighaen amr a swicesdt
sirza | ofigle: orlilaiol siedicr-dellgaz fdsrIdoge MWmufsd simfla) omeiet donft fdgur fre:
MRl IRURPRl IR ultsd Wl IRIA s ofidae] dosmaoad! sl srsomdl

RioamfteesoN ear fafdmer ufcist

1.'ofueferaf¥cer sk AsIpIIze AR ®:?

@. dipwr. 2 wifciorRt: o1 R @ dist:

2.<fteviz fUq: otwt fdber?

@ siigh: 3 fistror: a1 fletrera: a 2isfisor:

3. efigti>=r a1 ot fdbar?

oorgonedl  wawicacdl  sradoacdl  aarcrdicdl
4.3l sfeY fobermeIr: 3151 ejug fdber?

@ siigh: . ofied:  sramEIcCISdl a fdsrrdog:
5. “[dQICTORI HBIDIAI’ 3roflk: UcRlL: fAIRIuG fdber?

dfdonciori  Jfdonct  S1.ABIDIRII .HBIDI:



(¥IUs X)
(ITIolIcadb DrRid)
forgor:-aifdre: feccilorely aufen a1 fasray smofiy: staAdIcUoral: afer
3ot SIVICTIC AT ONHRIBIRIT HIST: SIEIA:| A: IdToIHdlo]
afinra snefid ufer usi ferzafenl faactn=r: usifer fafrer usi
fRrad-
foerfaT smrefi 1,

311 P9Ie] TPIR| 31E SV IoA-{STA-WIRIEIA ASSIRI RIFeT: 3 | 31¢1: fdcTadol (d URRISTR Galidl
3139101 atf Frnftl SIUIGTIGAIRR QNMRIGIRIL S15T: (7)-——-—-|3R4IID [AeIcRIZ IG1UEl dreldod IADCIRIT:
UG9lold] 31D 318 SIIAICICAI (8)------------- 319 | BPIIVIL AT 3ISI¥dl €dfol: IRTUel SIS
3IDA| TARICI Aoelclloll REbAUGloliol, fdfprauiiior ulRzonfor (9)------- <1 E5¢dl 318 Slialiodr:
3134 1(10)----—-- JICATIRERIT: FACoT: 1 UUT: SI: | a3t dooofkill

81act: BpTer
SAeT:

6.0l Jsmeol  SLfdw awmsi
7.@.3131?[: Wulda: ordafcia:  aenfdd:
8 DWIRRPACID:  ASA:  SLAlID:  E.3Mo[ok
9.@.clibolcelfol  WSBIOI  SLwclfol  &.guuIr
10.0.3191 AAd  SLIRAD  AIHEl
(qUS a1)
(IOIURITDGATDIVIH)
fordor:- ugHfdmetRr: AARAH a3 Ricar ferzada-
11.'3' quiIScARVR el fdbar?
PD.GorT: AGodlss:  SLAKE  H.DUSISS:
12. quifel JRNG feRAA- S HLHULHIH+IT -

D390 WIWE[  FLIGME  ABHWE
13. "®elol' UG oI fdeifcp: uIepr?
ol 1T PR %) B s (31| a.aceff

14.4g" &Il cliceIdlR ACAAYBY Bbddol U fKofc-

. US A3MUSA ~ SLUSKI .USAR]



D AUGHT Jbistd  suokt  asrcsid

18.19101182:" 3l uS @: Afoer: ¥

DIAAGL:  FLRBSoRIo:  I1.[A3eRiloe: a.glefotr:
19. OST3] 33RICT: oIc] ABfcI|'SIRICT:' AsT I fdoifcD: ugepr

ouern  xigdien st a.aqelf

(IUs &)
(afdd sradiersia)
forgor:-srenferf3ad srerioi ufdear Ussirond w101 fda sy fercar
forzaa-
dffRra: el oReiRM  onffpisll  pdcipdcrRfe-  [QuRidRltlel  @ccparmlicenia

?ﬂm—dammﬁﬁi WP ARl 98l 98y Slodllordy URUMREBRIRIANKT e 3ifd
m%mﬁmsxmmgwaﬁaaﬁmammﬁzﬁsﬁmmﬁmaﬁmr
alalﬁadaanﬁmmmml

21.0: AcAIfafcr: go1a?

odffRra: YT SLGR®D: .SIolD:
22.#BRId: DY SOIIURI-ad6liSDH: UFAOISIE TDR?
doido]  Wlollolv]  SISAlCTod]  &.310dIoTo]

23.9gY DY URAUDRPBARIAI] > 3ift uRfdaairrol cam:

3T
DAPAY A doGoly SLSloAloAy  H.fSaRly
2498fl SRIRRIUGRI WRIRMAK®UG ferad-
. Hlot: XaAg: SL. ST T3

25.3RBY sid ug oI [dsifp:?
. fgdl=n Ayl SLUL3I a.3gsit



forger: srenferRac *a3icd> ufdear Ussioig IRIM01 faasctssr: Ricar ferza-
gisTerst e eroa fagen Sielcidisth
Frs{r SRR YAarae gt I
fag2r otiar d e S1E18 Weiz ]
forfSte RiserRIolol 916l Slordaid]

3lotogotaerdts f&udi sdlatioral
26.fdgar >t fdggar smefier?
DIACRIA] WISRRAR]  SLACRREY — U.BPRRIIY

27 fAGIRIT: YT dool UASIA: 3191aeT?
P RiotRmlol Hfoglol  OL BPREGIl &, SaRSlol
28 fdg21 D SEIS?

DIBPWE JIARAGEL SLPE dWRYE

29.8IPTE1dTl I SRAl?

[ okjiRJ wfdgan SL3dcar - Agluct

30. 'eloel fdgRr Sroril: UgHl: felvurug foer?

. oIl wfdgar 3L.¢0Y:; afdgz:

forgor:- srenferlRad sirczriol ufdcar Usirold 37101 fdacts: forcar feradq-
(Ac: ufderfcr R sdlcar 2formn
IciorI- Uig it ! orpicdeI hisa:|

GRMD: -(;AD VL)
36101 | [p#aId Ul AlIpRIDE DA dArid Alquisrmicdmt
afal
3clolmI- (Afoidc for:2a=T)
SIIT | PAISIAND JAVRIABR: ? AT Jolfd Bean
Javieipiemar st (Fasias) dendag fdoilemelo]
SIRITRI TRAGAGIRIE Aeug Uil (Sur) 3!
YOI |

TAoRIGIT- IGI0ID | IAPIA Il DI Yol GRD: ? oIS Del- IRRIST
ToGdA JToloGAd I G
Iforml- Ru ] JIRTasGTR Uil Asoil ofil



31.28ol: DA Y1: 3RAlT?
DAPGRA  WHAGoRA  SIIWRA  T.PURY
32.5R®: I bisfa?

. 9D DRI . cIa<dr SLACKI  d.fRIoRn

33.GR®: [dbaf scoi

[SoX;1 (g S o) futa ) QNI e Ke o) Ve o) fotc 7 QR) Kt (o Je o e ot QRN 3 3 & LU ) ool e )
34.318lcar i ud @: UcaRr:?
D. ARI Rl eIy SL.dedl &, 9llof

35. 3icllpdl s UG [dciloug ferad-
DIRICIHA  WARME JL3UB  A3MGH
forgor:-srenferRaa-2oia=a sioart: faasctsar: forear feraa-
ASIeBed A deed A dl #olif3 Slroldrd]
<1 HI51 A2 Ud I>SiTelloll SURId||
3IGCRT:- el Ud IpSilolloll: Sl 8181 SURIA (FIll A=) (36)-——---—- Jldced a:
FOTIRY IBSToIAe |
36. DASOrded  Aollold]  SLURIBH - @[]
foréor:- ucafdractnr: AafIae a2 Ricar ferad-
37. 'S 3191l 39 ERT DIAARISIS: DI IGI
@. sliioraRRerz=T A DICIGRRA SLHARIA o sflsiea
38. TRPABARE: AR D:?

@ fdwoyerat . AGRIRL: a1 diceiifd: a B R
39, '91dloll Rl VS DRI IARIAL T:?
. DICIGRT: T RIR: a1 offat: g J18it:3R{doa:

40.3dlogorreiCoiRee fdeafdecrir Pf: @I ?
. 91dlofl SRl asfiassifcr: 31.3M6I6GHO: T ICHDICDIA



SIREAUS ASID 3o1¥otilol Td Uldrgor ufy, it
oell- tplcoft  aiftfbl udlem 2024-25

3irgof (MODEL) IdRI01

fererT:- Jvpad

1. . gligu: 11. SLAKT: 21. D AlfeRIa: 31. D.ARBGART

2. D AER: 12. 2030019 22. 3 diioTiolle] 32. @ .9rpicoAT

3. W dAPIccIcdl 13. SLIcARIT 23. SL.SloHIGAY 33. & AIUIDIC DI
4. D AlEk: 14. ©. UG 24, S1.3T: 34. sL.acal

5. SL.HABIDIRIA 15. D.TIC 25. & Al 35. A0.AAH

6. Dol 16. D316 26. DICRIA] 36. DASOCBE

7. DIlal: 17. SLUGIA 27. @ .Riot2Molol 37. @. HlloldRIZAZA
8. . IIRAFAICID: 18. S1.fd3el Alotr: 28. A.3IRATH 38. TL.ABIN:TRD:

9. P.clldo]ceIliol 19. AL IGART 29. Jdg2r1 39. g.918N:3RIdoG:
10. D.3A 20. A fdaiger 30. . o=l 40. Ifiapsiicr:




Jharkhand Council Of Educational Research and Training,

Ranchi

Model Question Paper 2024,2025

Class 11th, —eslay il

Urdu Core, A,

Time 30 mnt, 43023,
A2

_LLJ}/VQ; L ety s Ut Ut 24U

<U’:JV|KK&UD’£%J?L;/ o TS 5 n

Lebfrline SoeiP e e ot SbddnS] T/'&Lg-éw,f Fis Pl 28l 51285 Ui ol
2l //lg'gd/uﬂufg"/;«&/uf‘;dlf‘a&/ﬂvagjvnJj@:!baglgﬁiaéﬂfLlnﬁg&lg%:ibé}:]é(}gﬁa&gd}uufufg
:?cUU!/Jl&-Q-CQ’LJ}?}G/}/g/'j/;-bad!/'u!d"/.av/ub’iu’ﬁ‘fj@/ﬁ{U{UMﬁ;nggJﬂfaJ!:fdgLLt‘TJ?/?&}

—e o nl U:Wm{/}’éabﬂ'&am{“Lc«G!y!J;i

?93&/@.)gdufu:y;m’¢dbwl. 1#Jiw
U 2 DI®E@ .1

?wgy///tg+g7ﬁK/?/%uﬁug:u"unb.jwr
S S, 0, (B STt s TS Byane ST 1

?LLGK?j!gJU[Lé)‘{LiM.?)/J’/
T DI B B ST 1

e S F 150664 2 )
L@@ SQS 1

et 5.5 A



§ ARy =3 (Db 1
ﬂg;_,m&am,/fg;é/ o TS P S sae

WUt eF Y punSbe
%uiunigjo/ﬁﬂ’gku

WIS e

L@U@)f@}ig&f;h.‘f,jz_/ﬁi

SLgiberi e T r
di ywég%wf e us)

d/lguLni?’cuﬁd}JBui
SATSE Qo Pt F oS

d/lb/.lg&"'/ﬂa?g%.vu%g/l/
Lj/lﬂUf]/le;O}.,}(%’

?%JJfggﬁ/’}J"’
@ 105 (310 te(1)

?LLU'}/é LJ/c«/ﬁgﬁéLgn]/:}Jlr
FLLE DL LB Lo DL Lesid D)

s WS A 1.8 AU
U = @SB $r2 Db (D

Zeax B 7 L)L AL (1)

S U - 10 A1
F )=z 3SMT2)E #(1)

Ce SRS L T L ufbb it 2 1A
E I At (B P (5% £ U3.#(1)



¢ QYU U STy L1 S 12 A e
EALDSE B er S 2sss 1

e ST eSS L 13 AU
AT A B) 22116 1)

ﬁa?/hd%:%z/ﬂ/u. 144 Jir
PAOREIO N e

CG UL s 15 A i
Q@SS S Bz (4t fesi(1)

S "5 5,16 4 U
LT B s 3(2)s s (1)

v%mu;;ufdj.17/w
JesSZB3) )5 k(1)

‘-’LLJJK"AM"(EJGJ,«LJL?IT. 18 #Uis
@I RE QI

St K I B oL319 A s
L MDA (B G(2) 71 LED)

S LG i .20, i
Gt s E@gepe RIS 144122 ot b 1



lth

Answer Key class 117 Urdu core

1- 4. 11- 2
2- 1. 12- 2
3- 3. 13- 1
4- 2. 14- 2
5- 3. 15- 3
6- 3. 16- 4
7- 1. 17- 2
8- 3. 18- 3
9- 4. 19- 1

10- 3. 20- 4
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» There are 40 Multiple Choice Questions in this Question Booklet.
9 9% YR H Pt 40 dg-fdpedia w8

> Al questions are compulsory. Each question carries 1 mark.
T T8 SR SIS T 1 37h DTS |

» No marks will be deducted for wrong answer.
Tl SR &P AT DI 37p T8 PIeT ST |

> Four options (A,B,C,D) are given for each question. You have to select the most suitable option.

TP U P o0 IR fdehed (A,B,C,D) AT TU & | 37eh! e & Iuch fdeved g ¢ |

Second-generation computer used? 1 A9 Uil & HRYCR T gecHTe foham Tm?
Transistor instead of vacuum tubes A IFGH Y P STE TIORCY

Integrated circuitry B Q?ﬁicﬁf it
Vacuum tubes instead of an electromechanical device C sﬁ?@ﬁﬁw %EHSF CARSUES a'chH sUC)
None of the above D s:lff@f?bﬁg:lﬁ

Which computer gives the best qualities of both digital and 2 D AT PR FSRfee 3R AT &1 RIeR| &
analog computers? WTJTWWHT%?

Analog computer A THTCIRT YN

Mainframe computer B H9WH EEQIIOE?

Supercomputer C IRIIX

Hybrid computer D Esfis YR
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Which computer solves a variety of problems?

Hybrid computer
Analog computer
General-purpose computer

Special purpose compute

Fourth generation computers.

Where built after 1970

Include Microcomputer

Where the first to use microcomputer
All of the above

Which computer exist in a wide range of sizes and power

Microcomputer
Embedded computers
General-purpose computer

Special purpose computer

Mini Computer is also known as.

Mid-range computer
Mainframe computer
Microcomputer

None of these

The first electronic computer developed in which year
1966
1946
1876
1846

Data in computer terminology mean?
Figure Raw

facts

Botha and b

None of these
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The numbered position of a letter in a string is called ...............

Position
Integer position
Index

Location

The language Processor are
Compiler

Assembler and interpreter
both a and b

None of these

Which is flatware?
Integrated circuit
Procedure for inputting data
Compiler

Fortran

Who represents the set of programs that govern the operation of
a computer system and make the hardware run?

Hardware
CPU
Software

None of these

The first stage is performed on the computer by.
Central Processing Unit

Output unit

Input unit

None of these

Storage of 1 kb means the following number of bytes.

1064
1024

964
1000
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1024

964

1000
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IQ of a computer is
1064

237

0

1

Smallest unit of memory is?
Bit

Megabyte

Kilobyte

Byte

Which of the following languages computer understand?
JAVA language

C language

Binary Language

Object language

The four bits are called
Nibble

Octet

Bit

Byte

What is the full form of VDU?
Virtual Development User
Virtual Detection Unit

Visual Detection Unit

Visual Display Unit

Which of the following language was used in first-generation
computers?
Java

Python
Machine language
All of the these

Which of the following statement is correct about the URL?
URL is a software that connects to the internet

URL is the address of the web page

URL is the domain name

All of the these
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What is the maximum possible length of an identifier?
16
32
64

None of these above

Who developed the Python language?
Zim Den

Guido van Rossum

NieneStom

Wick van Rossum

In which year was the Python language developed?
1995
1972
1981
1989

In which language is Python written?
English

PHP

C

All of the above

Which one of the following parts is called the brain of the

computer?
ALU

Monitor
UPS
CPU

Which of the following memory is a volatile memory?
Secondary memory

Random memory

RAM

ROM

foreft TEaTIaRal Pt TR TYT el T 87
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Which one of the following is the correct extension of the Python
file?

Py

.python

P

None of these

In which year was the Python 3.0 version developed?
2008
2000
2010
2005

What do we use to define a block of code in Python language?

Key
Brackets
Indentation

None of these

Which character is used in Python to make a single line
comment?
/

1

#
!

Which of the following statements is correct regarding the
object-oriented programming concept in Python?

Classes are real-world entities while objects are not real

Objects are real-world entities while classes are not real

Both objects and classes are real-world entities
All of the above

When several classes inherit the properties of same common
class is called.

Single inheritance

Multiple inheritance

Hierarchical inheritance

All of the above
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What is the method inside the class in python language?
Object

Function

Attribute

Argument

Which of the following declarations is incorrect?
xX=2

_x=3

=5

None of these

—_Xyz__

Why does the name of local variables start with an underscore
discouraged?
To identify the variable

It confuses the interpreter
It indicates a private variable of a class

None of these

Which of the following is not a keyword in Python language?
val

raise

try

with

Which of the following statements is correct for variable names
in Python language?

All variable names must begin with an underscore.

Unlimited length

The variable name length is a maximum of 2.

All of the above

The collection of modules and packages that together cater to a
specific type of applications or requirements, is called ...............

Module
Library
Classes

Documentation
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x=2
_x=3
xXyz__ =95
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val

raise

try

With
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Mainisa/an
Object
Function
Literal

None of these
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